DEBT

ORIGINAL TO: County Clerk(s)
COPY TO: Equalization Dept.(s)
COPY TO: Each Twp or City Clerk

0.6524

N/A

2022 TAX RATE REQUEST

MILL AGE PEOLICET	DEDORT TO COUNTY DO LED OF THE	
MILLAGE INEGUES!	REPORT TO COUNTY BOARD OF COMMISSIONERS	ì

MEDICAL CARE FACILITY

County	BARRY		2022	2 Taxable Value	3	2,618,4	81 196		The second second	ASE REAL	
Local Government Unit	Barry County		Winter Levy						INSTRUCTIONS ON THE REVERSE SIDE CAREFULLY.		
The following tax rates	s form for each unit of governmen have been authorized for levy on	the 2022 tax	roperty tax is le oll.	vied. Penalty	for non-filing is	provided under	MCL Sec. 211.	119.			
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Source	Purpose of Millage	Date of Election	Millage Authorized by Election, Charter, etc.	2021 Millage Rate Permanently Reduced by MCL 211.34d	Millage Reduction	2022 Millage Rate Permanently Reduced by MCL 211.34d	Sec. 211.34 Millage Rollback Fraction	Maximum Allowable Millage Rate*	Millage Requested to be Levied July 1	Millage Requested to be Levied Dec. 1	Expiration Date of Millage Authorized
ALLOCATED	OPERATING	2009	5.8700	5.2724	0.9880	5.2091	1.0000	5.2091	5.2091	3330	Unlimited
EXTRA VOTED	CHARLTON PARK	Nov-16	0.2253	0.2191	0.9880	0.2164	1.0000	0.2164		0.2164	Dec-23
EXTRA VOTED	COMMISSION ON AGING	Aug-14	0.4907	0.4763	0.9880	0.4705	1.0000	0.4705		0.4705	Dec-24
EXTRA VOTED	911	Aug-14	0.9816	0.9531	0.9880	0.9416	1.0000	0.9416		0.9416	Dec-24
EXTRA VOTED	TRANSIT	Aug-14	0.2481	0.2406	0.9880	0.2377	1.0000	0.2377		0.2377	Dec-24
							Total Opera	ting	7.0	753	

Prepared by	The state of the s	Total Debt	0.6524
Meshia Rose	Title	ization Director	Date
As the representatives for the local government unit named a	2010 the positivity of the	ization Director	8/8/2022

As the representatives for the local government unit named above, we certify that these requested tax levy rates have been reduced, if necessary, to comply with the state constitution (Article 9, Section 31), and that the requested levy rates have also been reduced, if necessary, to comply with MCL Sections 211.24e, 211.34, and for LOCAL school districts which levy a Supplemental (Hold Harmless) Millage, MCL 380.1211(3).

X Clerk Signature Secretary Survela Dr. Valuer	Type Name Pamela A. Palmer	Date 9-13-742 2
X Chairperson Signature Bay Control	Type Name Ben Geiger	Date 9/13/22

*Under Truth in Taxation, MCL Section 211.24e, the governing body may decide to levy a rate which will not exceed the maximum authorized rate allowed in column 9. A public hearing and determination is required for an operating levy which is larger than the base tax rate but not larger than the rate in column 9.

Aug-05

^{**} IMPORTANT: See instructions on the reverse side for the correct method of calculating the millage rate in column (5).

2022 TAX RATE REQUEST

MILL AGE REQUEST	REPORT TO	COUNTY BOARD	OF COMMISSIONERS
MINIOR INCORPORT	NEIGHT	COOM I DOWN	OF COMMISSIONERS

County											
	BARRY			Taxable Value)	242,70	3,358				
Local Government Unit										E REFER TO	
	Freeport Public Li								INSTRU	CTIONS CAP	REFULLY
The following tax rates have	m for each unit of governmen ve been authorizad for levy on	t for which a prop the 2022 tax roll.	erly tax is levid	ed. Penalty for	non-filing is pr	ovided under MC	CL Sec. 211.119	•			
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
	Purpose of	Date of	Millage Authorized by Election,	2021 Millage Rate Permanently Reduced by	2022 Current Year Millage Reduction	2022 Millage Rate Permanently Reduced by	Sec, 211,34 Millage Rollback	Maximum Allowable Millage	Millage Requested to be Levied	Millage Requested to be	Expiration Date of
Source	Millage	Election		MCL 211.34d		MCL 211.34d	Fraction	Rate*	July 1	Levied Dec. 1	Millage Authorized
ALLOCATED	OPERATING	Aug-16	0.5000	0.4822	0.9880	0.4764	1.0000	0.4764		0.4764	Dec-26
	1										
							.,				
				······							
Prepared by				Title					I		
. Topalou by	Meshia Rose			1100	Faua	lization Di	rector		Date 5/2	/2022	
state constitution (Article 9, S	e local government unit named a Section 31), and that the request n levy a Supplementel (Hold Har	ed levy rates have	also been redu	ced, if necessar	s have been re	duced, if necessa	ry, to comply with	i the and for] 312	12022	
Clerk Secretary	Signature	Zeizh-			Type Name	y Reia	ler		Date 06/0	7/22	
Chairperson President	Signature O	J.M.	Parble		Type Name	cy J.	Marb	le	Date Olo)	07/22	
*Under Truth in Taxation M	ACI Section 211 24e halanya	anika hadu may	dooldo to love	a rata which wi	ll mot avanced th	لي			*	•	

514 (2-03

This form is issued under MCL Sections 211,24e, 211,34 and 211 34d. Filing is mandatory, Penalty applies.

ORIGINAL TO: County Clerk(s)
COPY TO: Equalization Dept.(s)
COPY TO: Each Twp or City Clerk

2022 TAX RATE REQUEST

MILLAGE REQUEST	REPORT TO COUNTY BOARD OF COMMISSION	VERS

County	TREE CITY TO COUNTY				- Nati]	<u> </u>		
	BARRY			Taxable Valu	e	130,3	70,020				
Local Government Unit	Duta Library							1	i .	E REFER T	
	Putnam Library								INSTRU	CTIONS CA	REFULLY
You must complete this to	orm for each unit of government	t for which a pro	operty tax is levi	ed. Penalty for	non-filing is pr	ovided under Mi	CL Sec. 211.119).			
rne following tax rates n	ave been authorized for levy on	the 2022 tax ro	oli.								
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				2021	2022	2022			1.650		•
			Millage		Current Year		Sec. 211,34	Maximum	Millage Requested	Millage	F**
•			Authorized	Permanently		Permanently	Millage	Allowable	to be	Requested to be	Expiration
	Purpose of	Date of	by Election,	•	Reduction	Reduced by	Rollback	Millage	Levied	Levied	Date of Millage
Source	Millage	Election	Charter, etc	MCL 211.34d		MCL 211.34d	Fraction	Rate	July 1	Dec. 1	Authorized
ALLOCATED	OPERATING	Aug-16	1.0000	0.9781	0.9838	0.9622	1.0000	0.9622		(*)	.2 Dec-25
					·			***	·	OBTIQE -	
	WA 1 II			_		·			··		VIII.

											'
											
							·				
								100			
**			*****		- 114						
•											****
			-								
Prepared by	** ** **			Title					Date		
	Meshia Rose	****		<u> </u>		lization Di			5/2	2022	
As the representatives for t	he focal government unit named a	pove, we sertify	that these reque	sted tax levy rat	es have been re	duced, if necessa	ry, to comply with	the			
state constitution (Article 9,	Section 31), and that the requeste	ed levy rates hav	re also been red	uced, if necessa	ry, to comply wi	th MCL Sections :	211.24e, 211.34,	and for			
COCAL school districts while	ch levy a Supplemental (Hold Han	miess) Miliage, i	VICL 380,1211(3).							
Clerk	Signature		101	T	Type Name		`		Date		
✗ Secretary					1	ina U	Villia	MS	5/1	7127	
Chairperson	Signatule , ((gels			Type Name		01	 _	Date	17	<u> </u>
✓ President	Lille 1	<u> </u>				inder	<u>, rol,</u>	<u>e</u>	<u> </u>	11-24	<u>_</u>
	v (1)					\sim					

614 (2-22)

ORIGINAL TO: County Clerk(s)

L-4029

COPY TO: Equalization Department(s) COPY TO: Each Township or City Clerk

2022 TAX RATE REQUEST (This form must be completed and submitted on or before September 30, 2022.) MILLAGE REQUEST REPORT TO COUNTY BOARD OF COMMISSIONERS

** IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

This form is issued under MCI. Sections 211.24e, 211.34 and 211.34d. Filing is mandatory; Penalty applies. Carefully read the instructions on page 2. County 2022 Taxable Value of All Properties less REZ **CALHOUN & BARRY** 2,435,538,567 Local Government Unit For LOCAL School Districts: Current Year Taxable Value excluding Principal Residence, Qualified Agricultural, Qualified Forest , Industrial Personal and Commercial Personal Properties. WILLARD DISTRICT LIBRARY You must complete this form for each unit of government for which a property tax is levied. Penalty for non-filing is provided under MCL Sec. 211.119. The following tax rates have been authorized for levy on the 2022 tax roll. (1) (2)(3)(4) (5) (6) (7) (8) (9) (10)(12)(11)Original 2021 2022 2022 Millage Millage Millage Millage Rate Current Year Millage Rate Sec. 211.34 Truth Maximum Requested Requested Expiration Authorized Permanently Millage Permanently in Assessing or Allowable to be to be Date of Purpose of Date of by Election, Reduced by Reduction Reduced by Equalization Millage Levied Levied Millage Source Millage Election Charter, etc. MCL 211,34d Fraction MCL 211,34d Rollback Fraction Rate* July 1 Dec. 1 Authorized Charter Operating 6/11/2001 2.0000 2.0000 1.0000 2.0000 1.0000 2.0000 2.0000 2.0000 Unlimited * 2.0000 mill levy on July 1st for cities of Springfield & Battle Creek and townships of Marshall & Bedford; all other units (townships) on December 1st Prepared by Title of Preparer Telephone Number Date Tom Scott (269) 781-0747 **Deputy Equalization Director** May 2, 2022 CERTIFICATION: As the representatives for the local government unit named above, we certify that these requested tax levy rates have been reduced, Local School District Use Only, Complete If requesting if necessary, to comply with the state constitution (Article 9, Section 31), and that the requested levy rates have also been reduced, if necessary to comply millaga to be layled. See STC Bulletin 2 of 2022 for with MCL Sections 211.24e, 211.34, and for LOCAL school districts which tevy a Supplemental (Hold Harmless) Millage, MCL 380, 1211(3), instructions on completing this section. Print or Type Name Kathleen Baker Clerk Date Total School District Operating Rate 6/15/22 Secretary Rates to be levied (HH/Supp and NH Oper ONLY) Chairperson Print or Type Name Date For Principal Residence, James Keefer 6/15/22 President Qualified Ag, Qualified Forest and Industrial Personal. *Under Truth in Taxation, MCL Section 211.24e, the governing body may decide to levy a rate which will not exceed the maximum authorized For Commercial Personal rate allowed in column 9. The requirements of MCL 211.24e must be met prior to levying an operating levy which is larger than the base tax rate but not larger than the rate in column 9. For All Other

This form is issued under MCL Sections 211.24e, 211.34 and 211.34d. Filing is mandatory, Penalty applies.

ORIGINAL TO: County Clerk(s) COPY TO: Equalization Dept.(s) COPY TO: Each Twp or City Clerk

Local Government Unit	BARRY			Taxable Value	(0	71,934	4,165				
Local Government offic	**************************************										
e a series	Assyria Township om for each unit of governmen		activitay in toxic	d Danalty for	non filing is nro	wided under MC	Sec 211 119				
	re been authorized for levy on		erty lax is levie	d. I charly for	non-ming to pic	yidda diiddi iiid	2 550; 2711775.				
The following tax rates hav	e been addictized for levy on	THE EULE WAY TO					100	-	(40)	7445	(40)
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				2021	2022	2022			Millage	Millage	
			Millage	Millage Rate	Current Year	Millage Rate	Sec. 211.34	Maximum	Requested	Requested	Expiration
			Authorized	Permanently	Millage	Permanently	Millage	Allowable	to be	to be	Date of
	Purpose of	Date of	by Election,	Reduced by	Reduction	Reduced by	Rollback	Millage	Levied	Levied Dec. 1	Millage Authorized
Source	Millage	Election	Charter, etc.	MCL 211.34d	Fraction	MCL 211.34d	Fraction	Rate*	July 1	200	Additionized
ALLOCATED	OPERATING	Nov-78	1.0000	0.8063	0.9898	0.7980	1.0000	0.7980		7980	unlimited
									Total Mills		
	iia Rose	Telephone 269 945-	1288	Title		dization Di			Date	/2022	
Mesh As the representatives for the state constitution (Article 9, 5)	ne local government unit named Section 31), and that the reque th levy a Supplemental (Hold Ha Signature	269 945- above, we certify sted levy rates have	1288 That these requive also been re-	ested tax levy ra	iles have been	reduced, if neces	sary, to comply w	ith the	Date	/2022	

This form is issued under MCL Sections 211.24e, 211.34 and 211.34d. Filing is mandatory; Penalty applies.

ORIGINAL TO: County Clerk(s) COPY TO: Equalization Dept.(s) COPY TO: Each Twp or City Clerk

2022 TAX RATE REQUEST

MILLAGE REQUI	EST REPORT TO COUNTY I	BOARD OF	COMMISSI	ONERS							
County	BARRY	. other see		Taxable Value		63,117	7,479				
Local Government Uni	Baltimore Township	P.									
You must complete thi	is form for each unit of government f	of which a prop	erty tax is levie	d. Penalty for	non-filing is pro	vided under MCI	L Sec. 211.119.				
The following tax rates	s have been authorized for levy on th	ie 2022 tax roll									4.6
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
			Millage Authorized	2021 Millage Rate Permanently	Millage	2022 Millage Rate Permanently Reduced by	Sec. 211.34 Millage Rollback	Maximum Allowable Millage	Millage Requested to be Levied	Millage Requested to be Levied	Expiration Date of Millage
Source	Purpose of Millage	Date of Election	by Election, Charter, etc.	Reduced by MCL 211.34d	Reduction Fraction	MCL 211.34d	Fraction	Rate*	July 1	Dec. 1	Authorized
ALLOCATED	OPERATING	Nov-78	1.0000	0.8493	0.9896	0.8404	1.0000	0.8404	0.8404		unlimited
VOTED	Library	Nov-20	0.3000	0.2977	0.9896	0.2946	1.0060	0.2946	0 Z990		Dec-24
		1									
		1									
					au (
				- 1					Total Mills	Same Correspondence Constitution	
	eshia Rose	Telephone 269 945	-1288	Title		alization D			Date 5/ 2	2/2022	
state constitution (Arti	s for the local government unit named cle 9, Section 31), and that the reques s which levy a Supplemental (Hotd Har	ted levy rates h	ave also been re	educed, if neces	rates have beer sary, to comply	reduced, if necestion with MCL Section	ssary, to comply ns 211.24e, 211.3	with the 34, and for			
x Clerk Secretary	Signature PODS	2 Upi	na.		Type Name	elope	Ypmo			0.22	
Chairperson x Supervisor	Signature Chad	1 Supe	u	0.2.	Type Name CH C	ed Va	nSyc	KIE_	Date 5 / 5	7 - JOJ22	
		1	1		will most avacand	the maximum au	thorized rate all	nwed in			

^{*}Under Truth in Taxation, MCL. Section 211.24e, the governing body may decide to levy a rate which will not exceed the maximum authorized rate allowed in column 9. A public hearing and determination is required for an operating levy which is larger than the base tax rate but not larger than the rate in column 9.

2022 TAX RATE REQUEST

MILLAGE REQUES	T REPORT TO COUNTY	BOARD OF	COMMISS	IONERS							
County	BARRY			Taxable Value		152,85	52.779				
Local Government Unit	DARRE			Taxable Value	*	102,00	22,110				
Local Government offic	Barry Township										
You must complete this fo	rm for each unit of government	for which a pro	perty tax is levie	ed. Penalty for	non-filing is pr	ovided under MC	L Sec. 211.119.				
The following tax rates ha	ve been authorized for levy on	the 2022 tax roll									
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				2021	2022	2022			Millage	Millage	
			Millage	Millage Rate	Current Year	Millage Rate	Sec. 211.34	Maximum	Requested	Requested	Expiration
			Authorized	Permanently	Millage	Permanently	Millage	Allowable	to be	to be	Date of
	Purpose of	Date of	by Election,	Reduced by	Reduction	Reduced by	Rollback	Millage Rete*	Levied	Levied	Millage Authorized
Source	Millage	Election	Charter, etc.	MCL 211.34d	Fraction	MCL 211.34d	Fraction	Rate*	July 1	Dec. 1	Aumonzed
ALLOCATED	OPERATING	Nov-78	1.0000	0.8150	0.9877	0.8049	1.0000	0.8049		1.8049	unlimited
VOTED	Fire	Aug-20	2.0000	1.9692	0.9877	1.9449	1.0000	1.9449		,9449	Dec-23
VOTED	Police	Aug-20	2.0000	1.9692	0.9877	1.9449	1.0000	1.9449	i	,7500	Dec-23
				1.7500)						711
-											
									Total Mills		
Prepared by	on Za. T.	Telephone		Title		2.50	T oscil		Date	11.0.00	
Mesh	nia Rose	269 945-	1288		Equa	lization Di	rector		5/2	2022	
	he local government unit named	Same and the same of the same									
	Section 31), and that the reques ch levy a Supplemental (Hold Har				ary, to comply v	vith MCL Sections	211,24e, 211,34	4, and for			
Clark	le		a T. Nanda A				-		Institution		
x Clerk Secretary	Signature	at.	ruch	+	Type Name	a)	Knigh	-[Date 9-13	2022	
Chairperson	Signature	19)	1	Type Name	- 1	5		Date 12	2022	
x Supervisor	Dary	Dor	vi		13 CU	ryk	sower		7-13	idudd	
#I Indas Touth in Toursian	MCI Section 211 240 #	aming hade	danida ta lasa	o roto which	Il not ovened 4	o maximum auti	arizad rata alla	und in			

Chairperson

x Supervisor

Signature

ORIGINAL TO: County Clerk(s)
COPY TO: Equalization Dept.(s)
COPY TO: Each Twp or City Clerk

Date

Township		Taxable Value	! 	96,409	9,362				
					·				
£									
of government for which a pro		ed. Penalty for r	non-filing is pro	ovided under MCI	Sec. 211.119.				
ed for levy on the 2022 tax rol	ĺ								
(2) (3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
		2021	2022	2022			Millage	Millane	, ,
	Millage	Millage Rate		Millage Rate	Sec. 211.34	Maximum	-	-	Expiration
	Authorized	Permanently	Millage	Permanently	Millage	Allowable	to be	to be	Date of
rpose of Date of	by Election,	Reduced by	Reduction	Reduced by	Rollback	Millage	Levied	Levied	Millage
Millage Election	Charter, etc.	MCL 211.34d	Fraction	MCL 211.34d	Fraction	Rate*	July 1	Dec. 1	Authorized
TING Nov-78	1.0000	0.8582	0.9876	0.8475	1.0000	0.8475		0.8475	unlimited
Aug-20	1.5000	1. 4 766	0.9876	1.4582	1.0000	1.4582		1.4587	Dec-23
								Call Part of Call	- All P 44 - E4
						•			
									
						,, , ,,,,,			
							Total Mills	THE STREET	
		Title					Date		
269 945-				lization Dir				2022	
	rpose of Date of Aillage Election FING Nov-78 Aug-20	Millage Authorized rpose of Date of by Election, Millage Election Charter, etc. FING Nov-78 1.0000 Aug-20 1.5000	Millage Millage Rate Authorized Permanently ripose of Date of by Election, Reduced by Aillage Election Charter, etc. MCL 211.34d FING Nov-78 1.0000 0.8582 Aug-20 1.5000 1.4766	Millage Millage Rate Current Year Authonized Permanently Millage rpose of Date of by Election, Reduced by Reduction Fraction FING Nov-78 1.0000 0.8582 0.9876 Aug-20 1.5000 1.4766 0.9876	Millage Rate Current Year Authonized Permanently Millage Reduced by Reduction Reduced by MCL 211.34d Fraction MCL 211.34d FING Nov-78 1.0000 0.8582 0.9876 0.8475 Aug-20 1.5000 1.4766 0.9876 1.4582	Millage Millage Rate Current Year Millage Rate Sec. 211.34 Authorized Permanently Millage Permanently Millage Routed by Reduction Reduced by Rollback Fraction FING Nov-78 1.0000 0.8582 0.9876 0.8475 1.0000 Aug-20 1.5000 1.4766 0.9876 1.4582 1.0000	Millage Millage Rate Current Year Millage Rate Sec. 211.34 Maximum Millage Permanently Millage Reduced by Reduced Permanently Millage Reduced by Reduced b	Millage Millage Rate Current Year Millage Rate Sec. 211.34 Maximum Requested Authorized Permanently Millage Permanently Millage Reduced by Reduced by Reduced by Reduced by Reduced by Reduced Fraction Rate* July 1 FING Nov-78 1.0000 0.8582 0.9876 0.8475 1.0000 0.8475 Aug-20 1.5000 1.4766 0.9876 1.4582 1.0000 1.4582 Total Mills	Total Mills 2021 2022 2022 2022 Millage Millage Millage Millage Millage Requested Requested Requested Reduced by Reduce

Type Name

2022 TAX RATE REQUEST

MILLAGE REQUEST	REPORT TO COUNT	Y BOARD OF	COMMISS	IONERS							
County	BARRY			Taxable Value		74,74	5.344				
Local Government Unit	Castleton Towns	hip	1			,,,,,	-,				
You must complete this form	m for each unit of governmen	nt for which a prop	erty tax is levi	ed. Penalty for	non-filing is pro	ovided under MC	L Sec. 211.119.				
The following tax rates have	e been authorized for levy or	the 2022 tax roll									
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Source	Purpose of Millage	Date of Election	Millage Authorized by Election, Charter, etc.	2021 Millage Rate Permanently Reduced by MCL 211.34d	2022 Current Year Millage Reduction Fraction	2022 Millage Rate Permanently Reduced by MCL 211.34d	Sec. 211.34 Millage Rollback Fraction	Maximum Allowable Millage Rate*	Millage Requested to be Levied July 1	Millage Requested to be Levied Dec. 1	Expiration Date of Millage Authorized
ALLOCATED	OPERATING	Nov-78	1.0000	0.8457	0.9879	0.8354	1.0000	0.8354		0.8354	unlimited
Voted	EMS	Aug-22	1.0000	1.0000	1.0000	1.0000	1.0000	1.0000		1.0000	Dec-25
Voted	Fire	Aug-22	0.5000	1.0000	1.0000	1.0000	1.0000	1.0000		0.5000	Dec-25
Voted	EMS Equip	Aug-22	0.2000	1.0000	1.0000	1.0000	1.0000	1.0000		0.2000	Dec-25
		12							Total Mills	2.5354	
	ia Rose	Telephone 269 945 -	1288	Title		alization Di			Date 5/2	2022	
state constitution (Article 9,	ne local government unit name Section 31), and that the requ th levy a Supplemental (Hold H	ested levy rates ha	ve also been re	duced, if necess	sary, to comply				la		
Secretary	Maxa	eassan	plin		Type Name	ARCIA S	cramli	h	Date // 10	2022	
Chairperson x Supervisor	Signature / Mex	tolla	infruel	el .	Type Name	heryl.	HARAW	El	Date 11/10	12022	
*I Indox Truth in Toyotion	MCI Section 211 240 the ma	James had a see						44			

L-4029

2022 TAX RATE REQUEST

County	ST REPORT TO COUNT	1 BOARD OF	COMMISS	IONENO			- Alberta				
	BARRY			Taxable Value		74,74	5,344				
Local Government Unit							APPLICATION OF THE STATE OF THE				
	Castleton Towns										
You must complete this for The following tax rates has	form for each unit of governme ave been authorized for levy o	nt for which a prop n the 2022 tax roll	erty tax is levi	ed. Penalty for	non-filing is pr	ovided under MC	CL Sec. 211.119.				
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Source	Purpose of Millage	Date of Election	Millage Authorized by Election, Charter, etc.	2021 Millage Rate Permanently Reduced by MCL 211.34d	2022 Current Year Millage Reduction Fraction	2022 Millage Rate Permanently Reduced by MCL 211.34d	Sec. 211.34 Millage Rollback Fraction	Maximum Allowable Millage Rate*	Millage Requested to be Levied July 1	Millage Requested to be Levied Dec. 1	Expiration Date of Millage Authorized
ALLOCATED	OPERATING	Nov-78	1.0000	0.8457	0.9879	0.8354	1.0000	0.8354	odly 1	0.8354	unlimited
						0.0001	1.0000	0.0004		A. PAST	ommined
and the state of t	The Imposes W. Harrison						And a rest of the same of the	V 1/1	ON THE PARTY OF TH		
							***************************************	,405(e) II			
TO THE PARTY OF TH											
						THE RESERVE OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN	North Brooks and the state of t				CONTRACTOR
							***************************************			**************************************	water the second
					- 1100	·			Anstern Step 19 - Step		
- Maria							THE STREET STREET		No. of the same of the contract of the contrac		
	springer and the state of the s										
							***************************************		Total Mills	0.8354	Account to the second of the s
Prepared by		Telephone		Title			The content of the co		Date		Principal and the second secon
	hia Rose	269 945-1			Equa	lization Dir	rector		5/2/	2022	
state constitution (Article 9,	the local government unit named , Section 31), and that the reque ch levy a Supplemental (Hold Ha	sted levy rates hav	e also been red	uced, if necessa	es have been r ry, to comply w	educed, if necess ith MCL Sections	eary, to comply wit 211.24e, 211.34,	th the and for			
x Clerk Secretary	Signature Ma	cease	rambin	,	Гуре Name	ARCIA	Soran	ulin	Date 9/2	3/2022	
Chairperson x Supervisor	Signature Aug	Hart	uell		Type Name	PYL L.	SCRAM HARTWE	76	Date 9/2:	3/2022	
Under Truth in Taxation.	MCL Section 211.24e, the gov	erning body may r	lecide to levy s					1.			

2022 TAX RATE REQUEST

MILLAGE REQUEST	REPORT TO COUNT	Y BOARD OF	COMMISS	IONERS							
County	BARRY			Towns Order		404.05	2.750				
110	DAKKI			Taxable Value		104,25	03,700				
Local Government Unit	Hastings Townsh	in					100				
You must complete this for	m for each unit of governmen		perty tax is levie	ed. Penalty for	non-filing is pro	ovided under MC	L Sec. 211.119.				
	e been authorized for levy or										
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
	Purpose of	Date of	Millage Authorized by Election,	2021 Millage Rate Permanently Reduced by	2022 Current Year Millage Reduction	2022 Millage Rate Permanently Reduced by	Sec. 211.34 Millage Rollback	Maximum Allowable Millage	Millage Requested to be Levied	Millage Requested to be Levied	Expiration Date of Millage
Source	Millage	Election		MCL 211.34d	Fraction	MCL 211.34d	Fraction	Rate*	July 1	Dec. 1	Authorized
ALLOCATED	OPERATING	Nov-78	1.0000	0.7076	0.9959	0.7046	1.0000	0.7046		0.7046	unlimited
VOTED	Library	May-19	1.6000	1.5420	0.9959	1.5356	1.0000	1.5356		1.5354	Dec-28
									Total Mills		
Prepared by	1.64	Telephone		Title		5 J. J. J. J.			Date		
	a Rose	269 945-				lization Dir			5/2/2	2022	
state constitution (Article 9, S	e local government unit named fection 31), and that the reque levy a Supplemental (Hold Ha Signature	sted levy rates hav	e also been red	duced, if necessa).		ith MCL Sections		and for	Date 8-16	,-2023,	
x Supervisor	JMI	1900	un			/M /DA	DUN		8-10	odad	

Chairperson x Supervisor

ORIGINAL TO: County Clerk(s)
COPY TO: Equalization Dept.(s)
COPY TO: Each Twp or City Clerk

2022 TAX RATE REQUEST

County											
	BARRY			Taxable Value		151,53	3,269				
ocal Government Unit											
	Hope Township										
	orm for each unit of governmen		tax is levi	ed. Penalty for	non-filing is pro	vided under MC	L-Sec. 211,119.				
he following tax rates ha	ive been authorized for levy or	n the 2022 tax roll									
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				2021	2022	2022			Millage	Millage	
		r	Millage	Millage Rate	Current Year	Millage Rate	Sec. 211.34	Maximum	Requested	Requested	Expiration
			uthorized	Permanently	Millage	Permanently	Millage	Allowable	to be	to be	Date of
0	Purpose of	- -	Election,	Reduced by	Reduction	Reduced by	Rollback	Millage	Levied	Levied	Millage
Source	Millage	Election Ch	arter, etc.	MCL 211,34d	Fraction	MCL 211,34d	Fraction	Rate*	July 1	Dec, 1	Authorize
LLOCATED	OPERATING	Nov-78 1	.0000	0.7969	0.9873	0.7867	1.0000	0.7867		0 0 1867	unlimite
OTED	Cem/Fire	Aug-20 1	0000	0.9748	0.9873	0.9624	1.0000	0.9624		9624	Dec-2
OTED	Roads	Aug-20 1	.0000	0.9748	0.9873	0.9624	1.0000	0.9624	Ž	1.9/234	Dec-2
										75. 1 42 34.	500 20
	- u				_			<u>.</u>			
***	<u></u>			 -							
	84 L										
									Total Mills		
repared by		Telephone		Title			•	"	Date		
Mesi	hia Rose	269 945-128	88		Equa	lization Di	rector	•	5/2/	2022	
	the local government unit name										
	, Section 31), and that the reque ch levy a Supplemental (Hold H				ary, to comply v	ith MCL Sections	211.24e, 211.34	, and for			
	⇔ues⊁ a onbbierrieurai (⊔old ⊔	emicos) ivillage, MCL o	100, 12 1(3	<i>.</i>							
Clerk	Signature	1 h	$\overline{}$	Ma.	Type Name				Date / 1		- ~
Secretary	KILKK	7 X (X)	Ma O	W/W	Oct	morah	Jac	K50n	6/0	12/201	30%

2022 TAX RATE REQUEST

MILLAGE REQ	UEST REPORT	TO COUNTY	BOARD OF	COMMISSIONERS

County			
	BARRY	Taxable Value	146,293,996
ocal Governmen	t Unit		
	Irving Township		

You must complete this form for each unit of government for which a property tax is levied. Penalty for non-filling is provided under MCL Sec. 211.119. The following tax rates have been authorized for levy on the 2022 tax roll

(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Purpose of Millage	Date of Election		Permanently Reduced by	Millage Reduction	2022 Millage Rate Permanently Reduced by MCL 211.34d	Sec. 211.34 Millage Rollback Fraction	Maximum Allowable Millage Rate*	Millage Requested to be Levied July 1	Millage Requested to be Levied Dec. 1	Expiration Date of Millage Authorized
OPERATING	Nov-78	1.0000	0.8252	0.9883	0.8155	1.0000	0.8155	0	8 155	unlimited
Fire	Aug-16	1.5000	1.4445	0.9883	1.4275	1.0000	1.4275	1.	4275	Dec-26
	Purpose of Millage OPERATING	Purpose of Date of Millage Election OPERATING Nov-78	Purpose of Date of by Election, Millage Election Charter, etc. OPERATING Nov-78 1.0000	Purpose of Millage Date of Millage by Election, Charter, etc. McL 211.34d OPERATING Nov-78 1.0000 0.8252	Purpose of Millage Date of Millage Nov-78 1.0000 0.8252 0.9883	Purpose of Millage Date of Millage Date of Millage Date of Millage Millage Reduced by Millage Reduced by Reduction MCL 211.34d OPERATING Nov-78 1.0000 0.8252 0.9883 0.8155	2021 2022 2022	2021 2022 2022 2022 Millage Millage Rate Current Year Millage Rate Sec. 211.34 Maximum Millage Permanently Millage Reduced by Reduced by	Purpose of Millage Date of Millage Election Charter, etc. MCL 211.34d Fraction MCL 211.34d Fraction MCL 211.34d Mov-78 1.0000 0.8252 0.9883 0.8155 1.0000 0.8155	Purpose of Millage Date of Millage Election Charter, etc. MCL 211.34d Fraction MCL 211.34d Fr

				Total Mills	
Prepared by	Telephone	Title	A THE PARTY OF THE	Date	
Meshia Rose	269 945-1288		Equalization Director	5/2/2022	

As the representatives for the local government unit named above, we certify that these requested tax levy rates have been reduced, if necessary, to comply with the state constitution (Article 9, Section 31), and that the requested levy rates have also been reduced, if necessary, to comply with MCL Sections 211.24e, 211.34, and for LOCAL school districts which levy a Supplemental (Hold Harmless) Millage, MCL 380.1211(3).

×	Clerk Secretary	Signature Macr	Type Name Sharon Olson	Date 5-4-22
×	Chairperson Supervisor	Signature Ruigut Ruigut	Type Name R Knight	Date 5/4/22

L-4029

2022 TAX RATE REQUEST

WILLAGE REQUEST REPORT	TO COUNTY BOARD O	OF COMMIS	SSIONERS								
County			2021 Taxabl	le Value				1	PI FA	ASE REA	D THE
Barry						124	,795,913			RUCTIO	
Local Government Unit (County Towns	ship. City, Village, K-12 School (District ISD 0	C or ANY Aut	hority such as i	Dustriet Librar	124 DDA -1-1	,130,313	1			
Johnstown Twp			0, 0, 7, 1, 7, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1,	anonky educates	DISTRICT LIDIG	y, DDA, etc.)			1	REVERS	
You must complete this form for each up	nit of government for which a pr	onerty tay is le	avied Donalty	for non films in				ļ	C	AREFUL	LY.
The following tax rates have been author	orized for levy on the 2021 tax n	oll	evieu renally	for rion-filling is	s provided un	der MCL Sec. 2	11.119.				
	•										
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
						(.,	(0)	(0)	(10)	(11)	(12)
				2020	2021	2121			Millage	Millage	
			Millage	Millage Rate	HEADLEE	Millage Rate	Sec. 211.34	Maximum	Requested	Requested	Expiration
	D		Authorized	Permanently	Millage	Permanently	Millage	Allowable	to be	to be	Date of
Source	Purpose of	Date of	by Election,	Reduced by	Reduction	Reduced by	Rollback	Millage	Levied	Levied	Millage
Codice	Millage	Election	Charter, etc.	MCL 211.34d	Fraction	MCL 211.34d	Fraction	Rate*	July 1	Dec. 1	Authorized
Allocated	Oper	Nov-78	1.0000	0.0000	0.0740				-		
	Орсі	1404-70	1.0000	0.9209	0.9710	0.8941	1.0000	0.8941		0.8941	unlimited
Voted	Fire	Aug-22	1.0000	1.0000	0.0000	0.0000	1.0000	0.0000		4 0000	D 05
Voted	F: . F . ·					0.0000	1.0000	0.0000		1.0000	Dec-25
Voted	Fire Equip	Aug-20	0.8000	0.7794	0.9710	0.7567	1.0000	0.7567		0.7567	Dec-23
Voted	Roads	Aug-22	0.5000	0.5000	0.0740						
	Ttoaus	Aug-22	0.5000	0.5000	0.9710	0.4855	1.0000	0.4855		0.5000	Dec-24
Voted	Library	Nov-20	0.3000	0.2967	0.9710	0.2881	1.0000	0.2880		0.0000	
				0.2007	0.07 10	0.2001	1.0000	0.2000		0.2880	Dec-25
repared by		Talant									
Meshia Ro		Telephone			Title						
		26	9-945-12	88		Equaliza	tion Dir		8/17/2	2022	
s the representatives for the local governments constitution (Article 9, Section 34), and	nent unit named above, we certify	that these requ	ested tax levy r	ates have been	reduced, if ned	cessary, to comp	bly with the				
tate constitution (Article 9, Section 31), and	that the requested levy rates hav	e also been red	duced, if necess	sary, to comply w	with MCL Secti	ons 211.24e, 21	1.34, and for				
OCAL school districts which levy a Suppler	neritai (Hoid Hamiless) Millage, M	CL 380.1211(3	3).								
Clerk	Signatura										
Secretary	Signature	ma	13001	~ 1	Type Name				Date	-	
Supervisor		<u> </u>	Bale	الدن		Sheri Ba	abcock		4-14-	33	
President	Signature	1 -1	5	. ()	ype Name				Date ,		
Fresident	x) ac	K) all	Car			Barbara	a Earl		09/14	1/23	
Inder Truth in Taxation MCI Section 21										1-1	

^{*}Under Truth in Taxation, MCL Section 211.24e, the governing body may decide to levy a rate which will not exceed the maximum authorized rate allowed in column 9. A public hearing and determination is required for an operating levy which is larger than the base tax rate but not larger than the rate in column 9.

^{**} IMPORTANT: See instructions on the reverse side for the correct method of calculating the millage rate in column (5).

Michigan Department of Treasury 614 (2-03)

This form is issued under MCL Sections 211.24e, 211.34 and 211.34d. Filing is mandatory; Penalty applies.

ORIGINAL TO: County Clerk(s) COPY TO: Equalization Dept.(s) COPY TO: Each Twp or City Clerk L-4029

2022 TAX RATE REQUEST

MILLAGE REQUEST	REPORT TO COUNT	Y BOARD OF	COMMISS	IONERS							
County								1			
	BARRY			Taxable Value	9	55 62	4,676				
Local Government Unit					<u>-</u>	00,02	.4,010				
	Maple Grove Tow	nship									
You must complete this for	n for each unit of governmen	nt for which a prop	erty tax is levi	ed. Penalty for	non-filing is pro	ovided under MC	L Sec. 211 119				
The following tax rates have	e been authorized for levy or	the 2022 tax roll									
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
			Millage Authorized	2021 Millage Rate Permanently	2022 Current Year Millage	2022 Millage Rate Permanently	Sec. 211.34 Millage	Maximum Allowable	Millage Requested to be	Millage Requested to be	Expiration Date of
Source	Purpose of	Date of	by Election,	Reduced by	Reduction	Reduced by	Rollback	Millage	Levied	Levied	Millage
	Millage	Election	Charter, etc.	MCL 211.34d	Fraction	MCL 211.34d	Fraction	Rate*	July 1	Dec. 1	Authorized
ALLOCATED	OPERATING	Nov-78	1.0000	0.8778	0.9783	0.8587	1.0000	0.8587		, 8587	unlimited
Voted	Fire	Aug-20	1.0000	0.9925	0.9783	0.9709	1.0000	0.9709		, 9709	Dec-23
Voted	Dust/Rd	Aug-20	1.0000	0.9925	0.9783	0.9709	1.0000	0.9709		, 9709	Dec-23
Voted	EMS	Nov 22	1,000							1,000	Dec-26
				,							
	-									V	
177		- H	·								
				·			-		·		
Prepared by		Telephone		Title			<u> </u>		Total Mills	·	
	a Rose	269 945-1		TILLE .	Faire	lization Dir	raatar		Date	10000	
As the representatives for the	local government unit named	above, we certify t	hat these reque	ested tax levy ra	es have been r	educed If access	ene de enembros	16. 65. <u>.</u>	5/2/	2022	j
state constitution (Article 9, St	ತರಚರಣ 31), and that the reques	sted levy rates have	also been red	uced, if necessa	ry, to comply w	ith MCL Sections	211.24e, 211.34,	and for			
LOCAL school districts which	levy a Supplemental (Hold Ha	rmless) Millage, MC	CL 380.1211(3)					-			
x Clerk	Signature \			1	Type Name				D-1-		1
Secretary	1 +1000	& Out	Xii	12	+70	Ily Co	WDev	tec	Date	10-22	_
Chairperson X Supervisor	Signature	But		-	Type Name Jeff	ex B	Butler	<u></u>	Date	3 a 1 *9	
	1100	- 1			11700	ελ n	V~110		11-10-	2022	1

2022 TAX RATE REQUEST

County	BARRY			Taxable Value		55,62	4 676				
Local Government Unit	Maple Grove Tow	nship		Taxable Value		00,02	-,070				
ou must complete this forr	m for each unit of governmen		perty tax is levie	ed. Penalty for	non-filing is pro	ovided under MC	L Sec. 211.119.				
The following tax rates have	e been authorized for levy or	the 2022 tax roll									
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
	Purpose of	Data of	Millage Authorized	2021 Millage Rate Permanently	Millage	2022 Millage Rate Permanently	Sec. 211.34 Millage	Maximum Allowable	Millage Requested to be	Millage Requested to be	Expiration Date of
Source	Millage	Date of Election	by Election, Charter, etc.	Reduced by MCL 211.34d	Reduction Fraction	Reduced by MCL 211.34d	Rollback Fraction	Millage Rate*	Levied July 1	Levied Dec. 1	Millage Authorized
ALLOCATED	OPERATING	Nov-78	1.0000	0.8778	0.9783	0.8587	1.0000	0.8587	,	-8587	unlimited
Voted	Fire	Aug-20	1.0000	0.9925	0.9783	0.9709	1.0000	0.9709			Dec-23
Voted	Dust/Rd	Aug-20	1.0000	0.9925	0.9783	0.9709	1.0000	0.9709		,9709	Dec-23
									Tatal Malla		
Prepared by		Telephone		Title					Date	2,8005	
	ia Rose	269 945-				lization Di			5/2	/2022	
state constitution (Article 9, S	e local government unit named Section 31), and that the reque In levy a Supplemental (Hold Ha	sted levy rates ha	ve also been red	duced, if necessa	tes have been ary, to comply wary.	reduced, if necess	sary, to comply w 211.24e, 211.34	ith the , and for	Date 7	0-77	1
Chairperson x Supervisor	Signature	Bute	avio		Type Name Jeff	1 cary	xnte		Date 9 - 21	0-77	

This form is issued under MCL Sections 211.24e, 211.34 and 211.34d. Filing is mandatory; Penalty applies.

ORIGINAL TO: County Clerk(s)
COPY TO: Equalization Dept.(s)
COPY TO: Each Twp or City Clerk

2022 TAX RATE REQUEST

Local Government Unit	BARRY Orangeville Towns			Taxable Value		470.05		REVISED 11	LVLL		
Local Government Unit You must complete this form for	Orangeville Towns			TUNUDIO TUILO		1/9.05	2,814	· ·			
You must complete this form for					•	,					
You must complete this form for		hip				4				•	
	each unit of government t		erty tax is levie	d. Penalty for	non-filing is pro	wided under MC	L Sec. 211.119				
-											
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
	•		• • •	2021	2022	2022			Millage	Millage	
			Millage	Millage Rate	Current Year	Millage Rate	Sec. 211.34	Maximum	Requested	Requested	Expiration
•			Authorized	Permanently	Millage	Permanently	Millage	Allowable	to be	to be	Date of
	Purpose of	Date of	by Election,	Reduced by	Reduction	Reduced by	Rollback	Millage	Levied	Levied	Millage Authorized
Source	Millage	Election	Charter, etc.	MCL 211,34d	Fraction	MCL 211.34d	Fraction	Rate*	July 1	Dec. 1	Aumonzea
ALLOCATED	OPERATING	Nov-78	1,0000	0.8517	0.9912	0.8442	1.0000	0.8442		0.8443	unlimited
VOTED	Roads	Nov-20	1.5000	1.4712	0.9912	1.4582	1.0000	1.4582		44582	Dec-24
VOTED	FIRE	Am-20	0.7500	0.7356	0.9912	0.7291	1.0000	0.7291		0.739	/ Dec-26
									·		
						·					
			2.5								
									Total Mills		
Prepared by	<u> </u>	Telephone		Title	•				Date		
Meshia F	Rose	269 945-	1288		Equa	lization Di	rector	•	11/2	1/2022	
As the representatives for the local											
state constitution (Article 9, Section LOCAL school districts which levy					ary, to comply v	vith MCL Sections	211.24e, 211.3	4, and for			
	,			'						·	1
x Clerk Secretary	Signature Thelody	Risne	1 <u> </u>		Type Name MEL	1004 PZ1.	SNER		Date //- え/	- 22	
Chairperson x Supervisor	Signature	rah			Type Name				Date //- プ,	1-22	

This form is issued under MCL Sections 211.24e, 211.34 and 211.34d. Filing is mandatory; Penalty applies.

ORIGINAL TO: County Clerk(s)
COPY TO: Equalization Dept.(s)
COPY TO: Each Twp or City Clerk

2022 TAX RATE REQUEST

County							-				
	BARRY			Taxable Value	;	179,05	2,814				
Local Government Unit			•								
	Orangeville Town	nship									
You must complete this form	for each unit of governme	nt for which a prop	erty tax is levie	d. Penalty for	non-filing is pro	vided under MC	L Sec. 211.119.				
The following tax rates have	been authorized for levy o	n the 2022 tax roll									
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
. ,	, .		, ,	2021	2022	2022	, ,	, ,	Millage	Millage	` ,
			Millage		Current Year	ZUZZ Millage Rate	Sec. 211.34	Maximum	Requested	Requested	Expiration
			Authorized	Permanently	Millage	Permanently	Millage	Allowable	to be	to be	Date of
	Purpose of	Date of	by Election,	Reduced by	Reduction	Reduced by	Rollback	Millage	Levied	Levied	Millage
Source	Millage	Election		MCL 211.34d	Fraction	MCL 211.34d	Fraction	Rate*	July 1	Dec. 1	Authorized
ALLOCATED	OPERATING	Nov-78	1.0000	0.8517	0.9912	0.8 4 42	1.0000	0.8442	ø	0.8442	unlimited
VOTED	Roads	Nov-20	1.5000	1.4712	0.9912	1.4582	1.0000	1.4582	4	114582	L Dec-24
		1.470,712,02.60	akt taletina							######################################	ayaa umuyeus
	· · · · · · · · · · · · · · · · · · ·	Pug yan Malija Daja' d	sterou et al appetation								<u> Marijang Militar In</u>
		·									
											
				•							

					***************************************				Tat-1 Mills	CORRUPTION AND THE CORRUPT	
Doorand by		Telenhone		Titlo							
	2 Pasa	Telephone	1288	Title	Faus	lization Di	ractor		Date		
	a Rose	269 945-				lization Di			Date	2/2022	
Meshi As the representatives for the	local government unit name	269 945- d above, we certify	that these requ	ested tax levy ra	ites have been	reduced, if necess	sary, to comply w		Date		
Meshi	local government unit name ection 31), and that the requ	269 945- d above, we certify ested levy rates have	that these require also been rec	ested tax levy ra luced, if necess	ites have been	reduced, if necess	sary, to comply w		Date		
Meshi As the representatives for the state constitution (Article 9, Se LOCAL school districts which	local government unit name ection 31), and that the requi levy a Supplemental (Hold H	269 945- d above, we certify ested levy rates have	that these require also been rec	ested tax levy ra luced, if necess	ites have been ary, to comply w	reduced, if necess	sary, to comply w	, and for	Date 5/2	2/2022	
Meshi As the representatives for the state constitution (Article 9, Se LOCAL school districts which	local government unit name ection 31), and that the requi levy a Supplemental (Hold H	269 945- d above, we certify ested levy rates hav larmless) Millage, M	that these require also been rec ICL 380.1211(3	ested tax levy ra luced, if necess	ates have been ary, to comply w Type Name	reduced, if necess with MCL Sections	sary, to comply w 211.24e, 211.34	, and for	Date 5/2	2/2022	
Meshia As the representatives for the state constitution (Article 9, Se LOCAL school districts which	local government unit name ection 31), and that the requi levy a Supplemental (Hold H	269 945- d above, we certify ested levy rates have	that these require also been rec ICL 380.1211(3	ested tax levy ra luced, if necess	ites have been ary, to comply w	reduced, if necess with MCL Sections	sary, to comply w	, and for	Date 5/2		

This form is issued under MCL Sections 211.24e, 211.34 and 211.34d. Filing is mandatory, Penalty applies.

ORIGINAL TO: County Clerk(s)
COPY TO: Equalization Dept.(s)
COPY TO: Each Twp or City Clerk

2022 TAX RATE REQUEST

County											
	BARRY			Taxable Value)	197,58	2,976				
Local Government Unit		-	_								
	Prairieville Town										
	orm for each unit of governme		erty tax is levie	d. Penalty for	non-filing is pro	ovided under MC	L Sec. 211.119.				
The following tax rates ha	eve been authorized for levy or	n the 2022 tax roll									
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				2021	2022	2022			Millage	Millage	
			Millage	Millage Rate	Current Year	Millage Rate	Sec. 211.34	Maximum	Requested	Requested	Expiration
			Authorized	Permanently	Millage	Permanently	Millage	Allowable	to be	to be	Date of
	Purpose of	Date of	by Election,	Reduced by	Reduction	Reduced by	Rollback	Millage	Levied	Levied Dec. 1	Millage Authorized
Source	Millage	Election	Charter, etc.	MCL 211.34d	Fraction	MCL 211.34d	Fraction	Rate*	July 1	Dec. 1	
ALLOCATED	OPERATING	Nov-78	1.0000	0.8095	0.9824	0.7952	1,0000	0.7952		.7957	unlimited
Voted	Fire	Nov-20	0.9559	0.9465	0.9824	0.9298	1.0000	0.9298		, 92 <i>8</i> 8	Dec-24
Voted	Police	Nov-20	0.8174	0.8093	0.9824	0.7950	1.0000	0.7950		,7750	Dec-24
Voted	Roads	Nov-20	0.9087	0.8997	0.9824	0.883 8	1.0000	0.8838		8838	Dec-24
						- VAIN					
							<u></u>				·
									Total Mills		
Prepared by		Telephone		Title					Date		
	hia Rose	269 945-		·		lization Di			5/2	2/2022]
As the representatives for	the local government unit name	d above, we certify	that these requ	ested tax levy ra	ates have been	reduced, if neces	sary, to comply v	vith the			
	, Section 31), and that the requ				ary, to comply v	vith MCL Sections	3 211,24e, 211.34	4, and for			
LOCAL school districts whi	ich levy a Supplemental (Hold H	iarmiess) Miliage, iv	ICL 380.1211(3).						_	_
x Clerk Secretary	Signature S	Poebel			Type Name	Rob Go	EBEL		Date 7 . 2	2.2012	
Chairperson x Supervisor	Signature) 54	melus	mini		Type Name J/M	Rob Go Stoneb	urner		Date	2-2022	

L-4029

2022 TAX RATE REQUEST

County	BARRY			Taxable Value		168,02	23 235				
Local Government Unit						100,02	10,200				
	Rutland Townshi	р									
You must complete this fo The following tax rates ha	orm for each unit of governme we been authorized for levy o	nt for which a prop n the 2022 tax roll	erty tax is levie	ed. Penalty for	non-filing is pro	ovided under MC	L Sec. 211.119				
(1)	(2)	(3)	(4) Millage Authorized by Election,	Permanently	(6) 2022 Current Year Millage	(7) 2022 Millage Rate Permanently	(8) Sec. 211,34 Millage	(9) Maximum Allowable	(10) Millage Requested to be	(11) Millage Requested to be	(12) Expiration Date of
Source	Millage	Election		Reduced by MCL 211.34d	Reduction Fraction	Reduced by MCL 211.34d	Rollback Fraction	Millage Rate*	Levied July 1	Levied Dec. 1	Millage Authorized
ALLOCATED	OPERATING	Nov-90	1.0000	0.6974	0.9867	0.6881	1.0000	0.6881		(Ozio884)	unlimited
Voted	Fire	Aug-18	1.2500	1.2085	0.9867	1.1924	1.0000	1.1924		1.000	Dec-28
Voted	Library	Aug-18	1.6000	1.5470	0.9867	1.5264	1.0000	1.5264		526	Dec-28
Voted	Road	Aug-20	1.0000	1.0000	0.9867	0.9867	1.0000	0.9867		0.986	Dec-24
									Total Mills		
Prepared by	hia Rose	Telephone		Title	Z				Date		
	A CONTRACTOR OF THE PARTY OF TH	269 945-			Equa	lization Di	rector		5/2	2/2022	
state constitution (Article 9 LOCAL school districts wh	the local government unit name b, Section 31), and that the required lich levy a Supplemental (Hold Institute of Signature	ested levy rates have	ve also been re	duced, if necess	Type Name	vith MCL Sections	s 211.24e, 211.3	vith the 4, and for	Date		
Secretary Chairperson X Supervisor	Signature	12015	hon	0	Type Name	HAUTHORN WATSON	E		Date G	5-22	

Michigan Department of Treasury 614 (2-03)

This form is issued under MCL Sections 211.24e, 211.34 and 211.34d. Filing is mandatory; Penalty applies.

ORIGINAL TO: County Clerk(s)
COPY TO: Equalization Dept.(s)
COPY TO: Each Twp or City Clerk

L-4029

2022 TAX RATE REQUEST

County											
	Ваггу			Taxable Value)	374,50	7,573				
Local Government Unit											
	Thornapple Town	ship									
You must complete this form fo	or each unit of governmen	nt for which a prope	erty tax is levie	d. Penalty for	non-filing is pro	vided under MC	L Sec. 211.119.				
The following tax rates have be	een authorized for levy on	the 2022 tax roll									
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				2021	2022	2022			Millage	Millage	
			Millage		Current Year	Millage Rate	Sec. 211.34	Maximum	Requested	Requested	Expiration
			Authorized	Permanently	Millage	Permanently	Millage	Allowable	to be	to be	Date of
	Purpose of	Date of	by Election,	Reduced by	Reduction	Reduced by	Rollback	Millage	Levied	Levied	Millage
Source	Millage	Election	Charter, etc.	MCL 211.34d	Fraction	MCL 211.34d	Fraction	Rate*	July 1	Dec. 1	Authorized
ALLOCATED	OPERATING	Nov-78	1.0000	0.9074	0.9923	0.9004	1.0000	0.9004		09004	unlimited
EXTRA VOTED	EMS	Aug-20	1.7500	1.6969	0.9923	1.6838	1.0000	1.6838		1.6838	Dec-23
Extra Voted	EMS	A11022								0,566	2 Dec 23
Prepared by		Telephone	1000	Title		P - 41 - 10			Total Mi [']	-	3,150
Meshia		269 945-1				lization Di			4/28	3/2022	21.4.12.027
As the representatives for the lostate constitution (Article 9, Sect LOCAL school districts which lev	tion 31), and that the reque	ested levy rates hav armless) Millage, M	e also been red	duced, if necess).		ith MCL Sections		1, and for	Date (o/		8/16/2022
x Chairperson Supervisor	Signature	1			Type Name	ZIL Say	PAEPER	-010	Date 6 - 8	20/22	

This form is issued under MCL Sections 211.24e, 211.34 and 211.34d. Filing is mandatory; Penalty applies.

ORIGINAL TO: County Clerk(s) COPY TO: Equalization Dept.(s) COPY TO: Each Twp or City Clerk

2022 TAX RATE REQUEST

County									REVISE	11/2022	
	BARRY			Taxable Value		93,56	2,768				
ocal Government Unit	Woodland Towns	hip									
	m for each unit of governmen		erty tax is levie	ed. Penalty for	non-filing is pro	ovided under MC	L Sec. 211.119.				
The following tax rates have	e been authorized for levy or	the 2022 tax roll									
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
	Purpose of	Date of	Millage Authorized by Election,	2021 Millage Rate Permanently Reduced by	Millage Reduction	2022 Millage Rate Permanently Reduced by	Sec. 211.34 Millage Rollback	Maximum Allowable Millage Rate*	Millage Réquested to be Levied	Millage Requested to be Levied Dec. 1	Expiration Date of Millage Authorized
Source	Millage	Election	Charter, etc.	MCL 211.34d	Fraction	MCL 211.34d	Fraction	1000	July 1		Laborator.
ALLOCATED	OPERATING	Nov-78	1.0000	0.9030	0.9961	0.8994	1.0000	0.8994		0.8994	unlimited
Voted	Fire/Cem	Nov-20	2.0000	1.9778	0.9961	1.9700	1.0000	1.9700		1.9700	Dec-24
Voted	Road	Nov-22	2.0000	2.0000	1.0000	2.0000	1.0000	2.0000		2.0000	Dec-25
4.00									Total Mills		
	ia Rose	Telephone 269 945-	1288	Title		lization Di			Date 11/1	0/2022	
state constitution (Article 9,	ne local government unit name Section 31), and that the reque th levy a Supplemental (Hold H	sted levy rates ha	ve also been re	duced, if necess	Type Name	with MCL Sections	s 211.24e, 211.3	4, and for	Date //- /	6-22	
Chairperson x Supervisor	Signature	y & M	relengio		Type Name Teff	rey S.	Stanton Macke	enzie	Date 1/-1	4-2072	

2022 TAX RATE REQUEST

MILLAGE REQUEST	TREPORT TO COUNTY	BOARD OF	COMMISSI	ONERS							
County											
	BARRY			Taxable Value	!	93,56	2,768				
Local Government Unit			_								
	Woodland Townsi	nip									
You must complete this for	rm for each unit of government	for which a prop	erty tax is levie	ed. Penalty for	non-filing is pro	ovided under MC	L Sec. 211.119.				
The following tax rates have	ve been authorized for levy on	the 2022 tax roll									
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
				2021	2022	2022			Millage	Millage	
			Millage	_	Current Year	Millage Rate	Sec. 211.34	Maximum	Requested	Requested	Expiration
	D	D-11	Authorized	Permanently	Millage	Permanently	Millage	Allowable	to be	to be	Date of
Source	Purpose of Millage	Date of Election	by Election, Charter etc.	Reduced by MCL 211.34d	Reduction Fraction	Reduced by MCL 211.34d	Rollback Fraction	Millage Rate*	Levied July 1	Levied Dec. 1	Millage Authorized
								Nate	odly t		
ALLOCATED	OPERATING	Nov-78	1.0000	0.9030	0.9961	0.8994	1.0000	0,8994		0,8994	unlimited
Voted	Fire/Cem	Nov-20	2.0000	1.9778	0.9961	1.9700	1.0000	1.9700		1.9700	Dec-24
				,							
Name of the Control o											
								-			
Burnelle		Talanhana	······································	1			······································		Total Mills		<u> </u>
Prepared by	hia Rose	Telephone 269 945-		Title	Eaus	ılization Di	roctor		Date	/2022	
	the local government unit named			Includ toy love s				áth the	3/2	12022	
•	, Section 31), and that the reque		•	•		•					
•	ich levy a Supplemental (Hold Ha	•		-				., ==			
x Clerk	Signature		10 /	î.	Type Name/		$\sim l$		Date	<i>î</i> > -	
Secretary	Molon	ced)~	Cast	m		ncyI	Stante	4	10-	66.0	
Chairperson x Supervisor	Signature	9 ma	Vanaio		Type Name	1	Marke		Date //)-	6-2022 6-303	
TY 20bourson					1 14 17	100 -	1 WILLE	1212	10	o rund	



Michigan Department of Treasury 614 (2-03) This form is issued under MCL Sections 211.24e, 211.34 and 211,34d. Filing is mandatory, Penalty applies.

ORIGINAL TO: County Clerk(s) COPY TO: Equalization Dept.(s) COPY TO: Each Twp or City Clerk L-4029

2022 TAX RATE REQUEST

County	BARRY		110	Taxable Value		335,32	04 694				
Land Carrament Hold	DARKI			Taxable Value		333,37	24,001	9			
Local Government Unit	Vankaa Caringa	Tournahin									
Vou must complete this	Yankee Springs form for each unit of governme		norty tav je lovis	ad Donally for	non filing is no	M rahau bahiw	1 Car 211 110				
	nave been authorized for levy of			ou. I dilaity loi	non-liming is pic	Widea ander Mic	L 060. Z11.118.				
(1)	(2)	(3)	(4)	(5) 2021	(6) 2022	(7) 2022	(8)	(9)	(10) Millage	(11) Millage	(12)
Source	Purpose of Millage	Date of Election	Millage Authorized by Election, Charter, etc.	Millage Rate Permanently Reduced by MCL 211.34d	Current Year Millage Reduction Fraction	Millage Rate Permanently Reduced by MCL 211.34d	Sec. 211.34 Millage Rollback Fraction	Maximum Allowable Millage Rate*	to be Levied July 1	Requested to be Levied Dec. 1	Expiration Date of Millage Authorized
ALLOCATED	OPERATING	Nov-78	1.0000	0.8612	0.9882	0.8510	1.0000	0.8510 -	July .	7,85/0	unlimited
Voted	EMS	Aug-18	0.7500	0.7341	0.9882	0.7254	1.0000	0.7254		> 1254	Dec-22
									Total Mills	15764	L
Prepared by Mes	shia Rose	Telephone 269 945-		Title	Equa	lization Di	rector		Date	/2022	
Mes As the representatives for state constitution (Article 9 LOCAL school districts when the sch	the local government unit name 9, Section 31), and that the requ nich levy a Supplemental (Hold F	269 945- d above, we certify ested levy rates ha	1288 that these requive also been rec	ested tax levy ra	tes have been r ary, to comply w	reduced, if necess	sary, to comply w		Date 5/2	/2022	
Mes As the representatives for state constitution (Article 9)	the local government unit name 9, Section 31), and that the requ	269 945- d above, we certify ested levy rates ha	1288 that these requive also been rec	ested tax levy ra	tes have been r	reduced, if necess	sary, to comply w		Date		

L-4029

2022 TAX RATE REQUEST

MILLAGE REQUES	T REPORT TO COUNT	Y BOARD OF	COMMISSI	ONERS							
County	the state of										
Control of the Contro	BARRY			Taxable Value	9	228,866	5,410				
Local Government Unit	Hastings City										
You must complete this f	orm for each unit of governmen	nt for which a pro	perty tax is levie	ed. Penalty for	non-filing is pro	vided under MCL 9	Sec 211 110				
The following tax rates ha	ave been authorized for levy on	the 2022 tax rol	l.	an it serially ten	mon ming is pro	Wided under Wide C	360. 211,115,				
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
1			Millage Authorized	2021 Millage Rate Permanently	2022 Current Year Millage	2022 Millage Rate Permanently	Sec. 211.34 Millage	Maximum Allowable	Millage Requested to be	Millage Requested to be	Expiration Date of
Source	Purpose of Millage	Date of Election	by Election, Charter, etc.	Reduced by MCL 211.34d	Reduction Fraction	Reduced by MCL 211.34d	Rollback Fraction	Millage Rate*	Levied July 1	Levied Dec. 1	Millage Authorized
CHARTER	OPERATING	Nov-93	16.2000	15.9661	0.9880	15.7745	1.0000	15.7745			unlimited
CHARTER	CEMETARY	May-13	1.0000	0.9968	0.9880	0.9848	1.0000	0.9848	.9848		N/A
								Total Mills	16.7593		
Prepared by	Meshia Rose			Title	Equa	lization Dire	ector		Date 5/2/	2022	
state constitution (Article 9,	the local government unit named at Section 31), and that the request ch levy a Supplemental (Hold Hai	ted levy rates hav	e also been redu	ced, if necessar	es have been rec	luced if necessary i	to comply with the	e for	0,21		1
Secretary	Signature	les			Type Name Jane M. Sau	ırman			Date May 23, 2022)	
Chairperson x Mayor/Superviso	Signature //				Type Name				Date		4

L-4029

ORIGINAL TO: County Clerk(s) COPY TO: Equalization Dept.(s) COPY TO: Each Twp or City Clerk

2022 TAX RATE REQUEST

MILLAGE REQUEST	REPORT TO COUNTY	BOARD OF	COMMISSI	ONERS					•	-	
County	BARRY		·	Taxable Value		11,09	6,355		,		
Local Government Unit	Freeport Village								PLEASE I INSTRUCT	REFER TO IONS CAR	
You must complete this form The following tax rates have	n for each unit of government e been authorized for levy on	•		ed. Penalty for	non-filing is pr	ovided under MC	CL Sec. 211.119		·		
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Source	Ригроse of Millage	Date of Election	Millage Authorized by Election, Charter, etc.	2021 Millage Rate Permanently Reduced by MCL 211.34d	Miliage Reduction	2022 Millage Rate Permanently Reduced by MCL 211,34d	Sec. 211.34 Millage Rollback Fraction	Maximum Allowable Millage Rate*	Millage Requested . to be Levled July 1	Millage Requested to be Levied Dec. 1	Expiration Date of Millage Authorized
General Law Village	Operating	N/A	12.5000	7.6145	0.9952	7,5779	1.0000	7.5779	7,5779	0	Unlimited
• • • • • • • • • • • • • • • • • • •		·	······································							· · - · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·
Francisco de la Companio del Companio de la Companio del Companio de la Companio											
	· · · · · · · · · · · · · · · · · · ·									· · · · · · · · · · · · · · · · · · ·	
						· · · · · · · · · · · · · · · · · · ·	·	·			
<u> </u>					·						
· · · · · · · · · · · · · · · · · · ·		····					······································				-A*********
**************************************										· · · · · · · · · · · · · · · · · · ·	
Prepared by				Title					Date		T
	Meshia Rose			<u> </u>		lization Di			5/2/20	022	
	local government unit named a ection 31), and that the requeste levy a Supplemental (Hold Harr	ed levy rates hav	e also been redi	uced, if necessar							-
Clerk Secretary	Signature dunion	mill	E		Type Name らど	الارسنائامر	[-[, []		Date (2 · 3 ti-	ЭĄ	
Chairperson President	Signature 3	inheu	<u>ر</u>		Type Name	Audr	~ W S		0 - 3 t - Date 6 - 20 -	22	

^{*}Under Truth in Taxation, MCL Section 211.24e, the governing body may decide to levy a rate which will not exceed the maximum authorized rate allowed in column 9. A public hearing and determination is required for an operating levy which is larger than the base tax rate but not targer than the rate in column 9.

This form is issued under MCL Sections 211.24e, 211 34 and 211 34d. Filing is mandatory; Penalty applies

2022 TAX RATE REQUEST

MILLAGE REQU	JEST REPORT	TO COUNTY	BOARD OF CO	MMISSIONERS

County											
Local Government Unit	BARRY Middleville Village			Taxable Value			07,914		PLEASE REFER		
	m for each unit of governmen e been authorized for levy on			ed. Penalty for	non-filing is pr	ovided under MC	CL Sec. 211.119.			_	
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Source	Purpose of Millage	Date of Election	Millage Authorized by Election,	2021	2022 Current Year Millage Reduction	2022 Millage Rate Permanently Reduced by MCL 211.34d	Sec. 211.34 Millage Rollback Fraction	Maximum Allowable Millage Rate*	Millage Requested to be Levied July 1	Millage Requested to be Levied Dec. 1	Expiration Date of Millage Authorized
MCL 69.1 Charter	Operating	N/A	15.0000	12.4626	0.9940	12,3878	1.0000	12.3878	12.3878		Unlimited
Prepared by				Title					Date		1
state constitution (Article 9, S	Meshia Rose clocal government unit named a ection 31), and that the request levy a Supplemental (Hold Har	ed levy rates have	e also been redu		s have been re		ry, to comply with		5/2/20	22	l)
Clerk Secretary Chairperson	Signature Signature	early	la		Type Name Type Name	.0	tyala.		Date OS III	2022	
President *Under Truth in Taxation, M column 9 A public hearing	CL Section 211 24e, the gove and determination is required	ming body may	decide to levy a	a rate which will	not exceed the	e maximum auth	orized rate allow	ed in	103 11/3	022	J

2022 TAX RATE REQUEST

MILLAGE REQUEST REPORT TO COUNTY BOARD OF COMMISSIONERS

County			
	BARRY	Taxable Value	25,604,806
Local Government	Unit		
	Nashville Village		

You must complete this form for each unit of government for which a property tax is levied. Penalty for non-filling is provided under MCL Sec. 211.119. The following tax rates have been authorized for levy on the 2022 tax roll.

PLEASE REFER TO L-4029
INSTRUCTIONS CAREFULLY

(12)(8)(10) (11) (2) (4) (5) (6) (7) (3) (1) Millage Millage 2021 2022 2022 Expiration Millage Rate Current Year Maximum Requested Requested Millage Millage Rate Sec. 211,34 Allowable to be to be Date of Millage Permanently Millage Authorized Permanently Millage Millage Date of by Election, Reduced by Reduction Reduced by Rollback Levied Levied Purpose of MCL 211.34d Fraction Rate* July 1 Dec. 1 Authorized Fraction Source Millage Election Charter, etc. MCL 211.34d 1.0000 8.7632 8.7632 Unlimited N/A 15.0000 9.1274 0.9601 8.7632 General Law Village Operating Unlimited 0.9601 3.5051 1.0000 3.5051 3.5051 3.6508 General Law Village Streets N/A 5.0000

Total 12.2683

Prepared by

Meshia Rose

Title

Equalization Director

Date

5/2/2022

As the representatives for the local government unit named above, we certify that these requested tax levy rates have been reduced, if necessary, to comply with the state constitution (Article 9, Section 31), and that the requested levy rates have also been reduced, if necessary, to comply with MCL Sections 211.24e, 211.34, and for LOCAL school districts which levy a Supplemental (Hold Harmless) Millage, MCL 380.1211(3).

Clerk
Secretary
Chairperson
President
Signature
Signature
Signature
Signature

Type Name

Kayce Nelson

Type Name

MIKE KEN YOU

Date

OG-15-20

2022 TAX RATE REQUEST MILLAGE REQUEST REPORT TO COUNTY BOARD OF COMMISSIONERS

County	BARRY			Taxable Valu	e	8 07	1,490				
Local Government Unit	Woodland Village								PLEASE REFER TO L-4029 INSTRUCTIONS CAREFULLY		
You must complete this form	n for each unit of governmen	t for which a pro	perty tax is levi	ed. Penalty for	non-filing is pro	vided under MC	L Sec. 211.119.	1	INSTRUC	HONS CAR	EFULLY
and the state of t	e been authorized for levy or	the 2022 tax ro	II.				20411211014				
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Source	Purpose of Millage	Date of Election	Millage Authorized by Election, Charter, etc.	2021 Millage Rate Permanently Reduced by MCL 211.34d	Millage Reduction	2022 Millage Rate Permanently Reduced by MCL 211.34d	Sec. 211.34 Millage Rollback Fraction	Maximum Allowable Millage Rate*	Millage Requested to be Levied July 1	Millage Requested to be Levied Dec. 1	Expiration Date of Millage Authorized
General Law Village	Operating	NA	12.5000	7.5885	0.9841	7.4678	1.0000	7.4678	7.4678	O.	
Voted	Park	Aug-18	2.0000	1.9742	0.9841	1.9428	1.0000	1.9428	1.9428	(i)	NA Dan 00
Voted	Operating	Aug-18	2.0000	1.9742	0.9841	1.9428	1.0000	1.9428		1%	Dec-22
Voted	Spec	Aug-18	2.0000	1.9742	0.9841	1.9428	1.0000	1.9428	1.9428	D.	Dec-22 Dec-22
					_			Total			
Prepared by	Meshia Rose	-		Title	Equal	lization Di-		- 1	Date		
	ocal government unit named ab tion 31), and that the requester ty a Supplemental (Hold Harm			ed tax levy rates ed, if necessary,		ization Dir iced, if necessary MCL Sections 211		ie i for	5/5/20	122	L
Clerk Secretary Chairperson	Signature	co)	nut.	. 1	Type Name	rie Du	its		Date 6/13/	2022	
President	Signature) Mald	Mari	tex		Type Name	ald n	lartin		Date (1/3/2)	022	
Inder Truth in Tavation MCI	Section 244 24a th		en fallet inn	45 - 45 - 5					01.2120		i

L-4029

2022 Tax Rate Request (This form must be completed and submitted on or before September 30, 2022)

MILLAGE R This form is issu	EQUEST REF ed under authority	PORT TO y of MCL Sec	COUNTY BO. tions 211,24e, 21	ARD OF COMMIS 11.34 and 211.34d. Fili	SSIONEI	RS atory; Pena	Ity applies.				Carefully read	the instruction	s on page
	ere the Local Gov I lhoun and I						ble Value of ALL Proper 286,368	ties in the Ui	nit as of 5-2	23-2022			
Bellevue	ent Unit Requestir Community	Schools	· S			For LOCAL School Districts: 2022 Taxable Value excluding Principal Residence, Qualified Agricuttural, Qualified Forest, Industrial Personal and Commercial Personal Properties. 31,520,444							
This form mu authorized fo	st be complete r levy on the 20	ed for each 022 tax roll	unit of goverr	ment for which a p	oroperty	tax is levi	ed. Penalty for non-	filing is pr	ovided ui	nder MCL Sec	211.119. The follo	wing tax rates ha	ve been
(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election Charter, etc.	(5) ** 2021 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	2022 Year "H Millage F	6) Current Headlee" Reduction ction	(7) 2022 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(8 Sec. 211. in Asses Equaliz Millage F Frac	,34 Truth ssing or zation Rollback	(9) Maximum Allowable Millage Levy	(10) Millage Requested to * be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorize
Voted	Oper-Non Home	8/5/2014	20.0188	19.9907	1.000	0	19.9907	1.0000	1001200000	19.9907	.0000	18.0000	12/31/23
Extra	Debt	11/2007	unlimited	unlimited	n/a		n/a	n/a		unlimited	.0000	9.1200	unlimited
repared by Laura Ash			1 '	9) 763-9432			Title of Preparer Business		r Consu	ıltant	Date 08/04/2022		
educed, if nece ecessary, to co	essary to compl	y with the st	tate constitutior	n (Article 9. Section	31). and t	hat the red	rtify that these reque quested levy rates ha levy a Supplemental	ive also be	en reduce	d if	Local School District millage to be levied. instructions on comp	Use Only. Complet See STC Bulletin 2 o Deting this section.	e if requestin of 2022 for
30.1211(3).] Clerk	Signature	Iller		Prin	ıt Name				Date		Total School Distr Rates to be Levie and NH Oper ONI	d (HH/Supp	Rate
Secretary Chairperso	n Signature				illanne It Name	Caro	41.00		08/04/2 Date	2022	For Principal Residence Ag., Qualified Fores Personal		
President Inder Truth in	Taxation, MCL	Section 21	1.24e, the gove	erning body may ded	eth Ma	v a rate w	hich will not exceed i	the maximu	8/4/202 m authori	zed rate	For Commercial Pe	rsonal	6.0000
owed in colun	nn 9. The requir ate in column 9	ements of N	MCL 211.24e m	nust be met prior to I	evying an	operating	levy which is larger	than the ba	se tax rat	e but not	For all Other		18.0000
IMPORT	ANT: See i	nstructions	s on page 2 re	egarding where to	find the	millage r	ate used in columr	(5).					

2022 Tax Rate Request (This form must be completed and submitted on or before September 30, 2022)

MILLAGE RE	QUEST REP	ORT TO	COUNTY BC	OARD OF COMMIS 11.34 and 211.34d. Fill	SSIONERS	Donalhi annili		3,000,000,000		-/	Carefully read	the instructions	on page 2.	
County(ies) Whe	re the Local Gov			11.04 dild 21 (1040.) ili	2022 1		e of ALL Proper	rties in the Unit	as of 5-2	3-2022				
Local Governme Caledonia	nt Unit Requestin	g Millage Le y Schoo	vy Is			For LOCAL School Districts: 2022 Taxable Value excluding Principal Residence, Qualified Agricuttural, Qualified Forest, Industrial Personal and Commercial Personal Properties.								
This form mus authorized for	t be complete levy on the 20	d for each	unit of gover	nment for which a		tax is levied, Penalty for non-filing is provided under MCL Sec 211.119. The following tax rates have been								
(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election Charter, etc.	(5) ** 2021 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(6) 2022 Currer Year "Headle Millage Reduc Fraction	nt Rate ee" Redu	(7) 22 Millage Permanently iced by MCL 211.34d Headlee"	(8) Sec. 211.34 in Assessi Equalizat Millage Rot Fractio	ng or tion Ilback	(9) Maximum Allowable Millage Levy	(10) Millage Requested to be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorized	
VOTED	Non-Home Oper	5/5/20	19.4399	19.1735	.9834	18.8	3552	1.0000		18.8552		18.0000	12/31/25	
VOTED	2014 Debt	6/30/14	NA.	NA		NA	1			NA		0.9400	Unlimited	
VOTED	2015 Debt	9/01/00	NA	NA		NA				NA		1.6000	Unlimited	
VOTED	2016 Ser.A Debt	5/08/07	NA	NA		NA				NA		0.4400	Unlimited	
VOTED	2016 Ser.B Debt	5/26/16	NA	NA		NA				NA		2,5600	Unlimited	
VOTED	2020 Debt	5/5/20	NA	NA		NA				NA		1.1000	Unlimited	
VOTED	2021 Debt	5/5/20	NA	NA		NA				NA		0.3600	Unlimited	
Prepared by Sara DeVr	les			phone Number 16) 891-8185			Title of Prepare	or .			Date 06/20/2022			
reduced, it lieu	essary to comp	iv with the	state constituti	cal government unit ion (Article 9, Section 34 and, for LOCAL s	1.311 and that th	no rominoste	and love into h	noun alea haa	m made in	ed, if llage,	Local School District millage to be levied instructions on con	pleting this section	te if requesting of 2022 for	
Clerk Secretary	Signature	lio	1		rint Name Julie Asper			11	Date 06/20/	-70 al	Total School Dis Rates to be Levi and NH Oper ON	ed (HH/Supp ILY)	Rate	
Chairperso	1 4- 1	ercula	R Zeli	· P	rint Name Marcy White			0	Date 06/20		For Principal Resi Ag., Qualified Fore Personal	dence, Qualified est and Industrial		
* Under Truth in	Taxation, MC	Section 2	10.24e, the go	verning body may d	ecide to levy a r	levy a rate which will not exceed the maximum a			m autho	cianal colo	For Commercial P	or Commercial Personal		
larger than the	allowed in column 9. The requirements of MCL 211.24e must be met prior to levying a arger than the rate in column 9.					rating levy	which is large	r than the bas	se tax ra	ate but not	For all Other		18.0000	
** IMPOPT	TANT. C	landaratt-	TO LED LIVE A		c e male em	0.000.000.000	2.5-0-2.5-2	11.74					ALCOHOL:	

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

L-4029

2022 Tax Rate Request (This form must be completed and submitted on or before September 30, 2022)

Carefully read the instructions on page 2.

County(ies) Whe	ere the Local Gove Barry	ernment Unit	Levies Taxes		\$58	2022 Taxable Value of ALL Properties in the Unit as of 5-23-2022 \$589,910,039								
Delton Ke	ent Unit Requestin	ols			Personal	For LOCAL School Districts: 2022 Taxable Value excluding Principal Residence, Qualified Agricuttural, Qualified Forest, Industrial Personal and Commercial Personal Properties. \$189,819,548								
	st be complete			nment for which a p	property tax is lev	ried. Penalty for non-	-filing is provided u	nder MCL Sec	211.119. The follo	wing tax rates ha	ve been			
(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election Charter, etc.	(5) ** 2021 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(6) 2022 Current Year "Headlee" Millage Reduction Fraction	(7) 2022 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(8) Sec. 211,34 Truth in Assessing or Equalization Millage Rollback Fraction	(9) Maximum Allowable Millage Levy	(10) Millage Requested to be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorized			
Voted	Operating	8/4/2020	18.4097	17.9218	0.9822	17.6027	1.0000	17.6027	0	17.6027	Dec 2025			
Voted	Operating	5/3/2022	1.8900	1.8900	1.0000	1.8900	1.0000	1.8900	0	0.3973	Dec 2025			
Extra Voted	Debt	5/7/2013	N/A	N/A	N/A	N/A	N/A	N/A	0	2.0500	N/A			
Extra Voted	Debt	5/7/2019	N/A	N/A	N/A	N/A	N/A	N/A	0	.0900	N/A			
Extra Voted	Debt	5/7/2019	N/A	N/A	N/A	N/A	N/A	N/A	0	1.9800	N/A			
Extra Voted	Debt	5/7/2013	N/A	N/A	N/A	N/A	N/A	N/A	0	.7800	N/A			
Prepared by Andy Nure	enberg		2.00	phone Number 69) 623-1330		Title of Prepare	of Finance		Date 6-2	7-22				
educed, if nec	essary to comp	v with the s	state constitution	on (Article 9, Section	31), and that the	certify that these requ requested levy rates he th levy a Supplementa	nave also been reduc	ed, if	Local School District millage to be levied, instructions on com	t Use Only. Comple See STC Bulletin 2 pleting this section.	te if requesting of 2022 for			
B0.1211(3).	Signature	Sections	211.246, 211.0		nt Name		Date		Total School Dist Rates to be Levie and NH Oper ON	ed (HH/Supp	Rate			
Secretary Chairperso	on Signature	1		(Pr	CRAIG nt Name,	JENDA.	Date	2702	For Principal Resid Ag., Qualified Fore Personal		0.0000			
Y President	Tavatian MCI	Section 2	Man.	verning body may de	LSSI CA	Drandli which will not exceed	the maximum autho	7 202 Z	For Commercial P	ersonal	6.0000			
llowed in colu	mn 9. The requi	rements of	MCI 211 24e	must be met prior to	levving an operat	ing levy which is large	r than the base tax ra	ate but not			18.0000			

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

ORIGINAL TO: County Clerk(s)

COPY TO: Equalization Department(s)
COPY TO: Each Township or City Clerk

2022 TAX RATE REQUEST (This form must be completed and submitted on or before September 30, 2022.)

MILLAGE REQUEST REPORT TO COUNTY BOARD OF COMMISSIONERS

Carefully read the instructions on page 2. This form is issued under MCL Sections 211.24e, 211.34 and 211.34d. Filing is mandatory; Penalty applies. 2022 Taxable Value of All Properties in the unit as of 5/23/2022 County 1,178,277,333 **KALAMAZOO** For LOCAL School Districts: Current Year Taxable Value excluding Principal Residence, Qualified Agricultural, Qualified Local Government Unit Forest, Industrial Personal and Commercial Personal Properties. 266,163,249 Gull Lake Community Schools This form must becompleted for each unit of government for which a property tax is levied. Penalty for non-filing is provided under MCL Sec. 211.119. The following tax rates have been authorized for levy on the 2022 tax roll. (12)(3) (4) (5) (6)(7)(8) (9) (10)(11)(1) (2)Original 2021 2022 2022 Millage Millage Expiration Millage Millage Rate Current Year Millage Rate Sec. 211.34 Truth Maximum Requested Requested to be to be Date of Millage Permanently in Assessing or Allowable Authorized Permanently Levied Levied Millage by Election, Reduced by Reduction Reduced by Equalization Millage Purpose of Date of Authorized Millage Election Charter, etc. MCL 211.34d Fraction MCL 211.34d Rollback Fraction Rate* July 1 Dec. 1 Source 12/31/2033 VOTED **OPER NON-PRE** 11/2012 18.5548 18.0367 0.9856 17,7769 1.0000 17,7769 UNLIMITED 12/31/2030 UNLIMITED **EXTRA VOTED** DEBT 2004 5,6 UNLIMITED 12/31/2024 **EXTRA VOTED** DEBT 2012 UNLIMITED UNLIMITED 12/31/2047 **EXTRA VOTED** DEBT 5/2018 UNLIMITED 12/31/2022 0.6334 0.9907 0.6275 1.0000 0.6275 MCL 380,1212 **BUILDING & SITE SF** 2/2014 0.6500 Date Telephone Number Title of Preparer Prepared by (269) 383-8960 May 5, 2022 Mathew Hansen **Equalization Director** CERTIFICATION: As the representatives for the local government unit named above, we certify that these requested tax levy rates have been reduced, Local School District Use Only, Complete if requesting nillage to be levied. See STC Bulletin 2 of 2022 for if necessary, to comply with the state constitution (Article 9, Section 31), and that the requested levy rates have also been reduced, if necessary to comply Instructions on completing this section. with MCL Sections 211.24e, 211.34, and for LOCAL school districts which levy a Supplemental (Hold Harmless) Millage, MCL 380.1211(3). Total School District Operating Rate Clerk Print or Type Name Rates to be levied (HH/Supp Secretary and NH Oper ONLY) For Principal Residence, Chairperson Print or Type Name Date Signature Qualified Ag. Qualified Forest President and Industrial Personal. For Commercial Personal *Under Truth in Taxation, MCL Section 211.24e, the governing body may decide to levy a rate which will not exceed the maximum authorized 6.00 rate allowed in column 9. The requirements of MCL 211.24e must be met prior to levying an operating levy which is larger than the base tax rate For All Other but not larger than the rate in column 9.

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

2022 Tax Rate Request (This form must be completed and submitted on or before September 30, 2022)

MILLAGE REQUEST REPORT TO COUNTY BOARD OF COMMISSIONERS

Carefully read the instructions on page 2.

County(les) Who	ere the Local Gov Calhoun	ernment Unit	Levies Taxes			2022 Taxable Value of ALL Properties in the Unit as of 5-23-2022 \$703,660,155							
	ent Unit Requestin Area Schoo				For Pers	For LOCAL School Districts: 2022 Taxable Value excluding Principal Residence, Qualified Agricultural, Qualified Forest, Industrial Personal and Commercial Personal Properties. \$199,026,357							
This form must be completed for each unit of government for which a prope authorized for levy on the 2022 tax roll.						is levied	. Penalty for non-	filing is provided ur	nder MCL Sec 2	11.119. The follo	wing tax rates hav	ve been	
(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election Charter, etc.	(5) ** 2021 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(6) 2022 Curr Year "Head Millage Redu Fraction	dlee" F	(7) 2022 Millage tate Permanently Reduced by MCL 211.34d "Headlee"	(8) Sec. 211.34 Truth in Assessing or Equalization Millage Rollback Fraction	(9) Maximum Allowable Millage Levy *	(10) Millage Requested to be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorized	
Voted	Operating	08/08/17	18.0000	17.9100	.9936		17.7953	1.0000	17.7953		17.7953	12/31/27	
Extra Voted	Debt Svs	08/03/10	5.7500		1.0000			1.0000	5.7500		2.0000	12/21/26	
Extra Voted	Debt Svs	11/03/15	4.0000		1.0000		-	1.0000	4.0000		4.0000	12/31/40	
Extra Voted	Sinking	05/05/15	1.0000	.9662	.9865		9531	1.0000	.9531		.9531	12/31/24	
Prepared by Telephone Number (269) 945-6134						Title of Preparer Assistant Superintendent Date 08/15/2022							

necessary, to comply with MCL Sections 211.24e, 211.34 and, for Li 380.1211(3).	OCAL school districts which levy a Supplement	al (Hold Harmless) Millage.
Clerk Secretary Secretary	Print Name Jennifer L. Eastman	Date 08/15/2022
Chairperson Signature	Print Name Luke E. Haywood	Date 08/15/2022
* Under Truth in Taxation, MCL Section 211.24e, the governing body	may decide to levy a rate which will not excee	d the maximum authorized rate

CERTIFICATION: As the representatives for the local government unit named above, we certify that these requested tax levy rates have been

Local School District Use Only. Complete if requesting millage to be levied. See STC Bulletin 2 of 2022 for instructions on completing this section.

Total School District Operating
Rates to be Levied (HH/Supp

Total School District Operating Rates to be Levied (HH/Supp and NH Oper ONLY)	Rate
For Principal Residence, Qualified Ag., Qualified Forest and Industrial Personal	0.0000
For Commercial Personal	5.7953
For all Other	17.7953

^{*} Under Truth in Taxation, MCL Section 211.24e, the governing body may decide to levy a rate which will not exceed the maximum authorized rate allowed in column 9. The requirements of MCL 241.24e must be met prior to levying an operating levy which is larger than the base tax rate but not larger than the rate in column 9.

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

L-4029

2022 Tax Rate Request (This form must be completed and submitted on or before September 30, 2022)

Carefully read the instructions on page 2.

	nere the Local Government, Kent, Ea		Levies Taxes			2022 Taxable Value of ALL Properties in the Unit as of 5-23-2022 \$545,847,166								
Lakewoo	nent Unit Requesting od Public Sch	nools			Personal	For LOCAL School Districts: 2022 Taxable Value excluding Principal Residence, Qualified Agricuttural, Qualified Forest, Industrial Personal and Commercial Personal Properties. \$116,022,712								
his form mo authorized for	ust be complete or levy on the 20	d for each 122 tax roll	unit of gover	nment for which a p	property tax is lev	ied. Penalty for non-	filing is provided u	nder MCL Sec	211.119. The follo	wing tax rates ha	ve been			
(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election Charter, etc.	(5) ** 2021 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(6) 2022 Current Year "Headlee" Millage Reduction Fraction	(7) 2022 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(8) Sec. 211.34 Truth in Assessing or Equalization Millage Rollback Fraction	(9) Maximum Allowable Millage Levy	(10) Millage Requested to * be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorize			
VOTED	OPER NON PRE	MAR-16	18.0000	17.9730	1.0000	17.9730	1.000	17.9730		17.9730	DEC-24			
VOTED	DEBT	MAY-07	UNLIM	N/A	N/A	N/A	N/A	N/A		4.0000	DEC-32			
Prepared by Pamela S	S. Behling		77.54	phone Number 16) 374-7434		Title of Prepare	of Finance		Date 06/27/2022					
educed, if ne	cessary to comp	ly with the s	state constitution	on (Article 9, Section	31), and that the r	certify that these requiequested levy rates here.	ave also been reduc	ed if	Local School District millage to be levied.	et Use Only. Complet See STC Bulletin 2	te if requestir of 2022 for			
380.1211(3).				37.2.5	nt Name		Date		Total School Dist Rates to be Levie and NH Oper ON	ed (HH/Supp	Rate			
Secretary Chairper	son Signature	100/ 1	MacKe 10dî ecz	Pri	ynn MacKenz	. 7	06/27/		For Principal Resid Ag., Qualified Fore Personal		17.9730			
V Presiden Under Truth	in Taxation, MCI	Section 2	11.24e, the gov	verning body/may de	cide to levy a rate	Brodbeck-Krenz 06/27/2022 For Comme levy a rate which will not exceed the maximum authorized rate an operating levy which is larger than the base tax rate but not			For Commercial Personal		5.9730			
rger than the	e rate in column !	9.	WICL 211.240	must be met prior to	ievying an operatii	ng ievy which is largei	than the base tax ra	ate but not	For all Other		17.9730			

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

Carefully read the instructions on page 2.

L-4029

2022 Tax Rate Request (This form must be completed and submitted on or before September 30, 2022) MILLAGE REQUEST REPORT TO COUNTY BOARD OF COMMISSIONERS

This form is issued under authority of MCL Sections 211,24e, 211,34 and 211,34d, Filing is mandatory; Penalty applies,

	The state of the s
County(ies) Where the Local Government Unit Levies Taxes	2022 Taxable Value of ALL Properties in the Unit as of 5-23-2022
BARRY CO	109,432,425
	For LOCAL School Districts: 2022 Taxable Value excluding Principal Residence, Qualified Agricuttural, Qualified Forest, Industrial
MAPLE VALLEY SCHOOLS	Personal and Commercial Personal Properties. 22,824,721

This form must be completed for each unit of government for which a property tax is levied. Penalty for non-filing is provided under MCL Sec 211.119. The following tax rates have been authorized for levy on the 2022 tax roll.

(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election Charter, etc.		(6) 2022 Current Year "Headlee" Millage Reduction Fraction	(7) 2022 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(8) Sec. 211.34 Truth in Assessing or Equalization Millage Rollback Fraction	(9) Maximum Allowable Millage Levy *	(10) Millage Requested to be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorized
VOTED	OPER	11/2014	18.9933	18.6648	.9950	18.5715	1.0000	18.5715	0	18.0000	12/26
VOTED	DEBT	05/2014	N/A	N/A	N/A	N/A	N/A	N/A	0	6.0000	12/39
						-					
			-								
		_									
		•									

Prepared by	Telephone Number	Title of Preparer	Date
DARRYL SYDLOSKI	(517) 852-9699	DIRECTOR OF FINANCE	09/28/2022
CERTIFICATION: As the representati	ves for the local government unit named abo	ove, we certify that these requested tax levy rates have been	Local School District Use Only, Complete if requesting

reduced, if necessary to comply with the state constitution (Article 9, Section 31), and that the requested levy rates have also been reduced, if necessary, to comply with MCL Sections 211.24e, 211.34 and, for LOCAL school districts which levy a Supplemental (Hold Harmless) Millage, 380.1211(3).

Clerk Secretary	Signature	Print Name JUSTIN KEIFFER	Date 09/28/2022
Chairperson	Signature (MA - MA	Print Name	Date
X President	30 with miller	KRISTEN MILLER	09/28/2022

^{*} Under Truth in Taxation, MCL Section 211.24e, the governing body may decide to levy a rate which will not exceed the maximum authorized rate allowed in column 9. The requirements of MCL 211.24e must be met prior to levying an operating levy which is larger than the base tax rate but not larger than the rate in column 9:

millage to be levied. See STC Bulletin 2 of 2022 for instructions on completing this section. Total School District Operating Rates to be Levied (HH/Supp Rate and NH Oper ONLY) For Principal Residence, Qualified Ag., Qualified Forest and Industrial 0.0000 Personal For Commercial Personal 6.0000 18.0000 For all Other

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

nty Clark(s)

L-4029

ORIGINAL TO: County Clerk(s)
COPY TO: Equatization Dept.(s)
COPY TO: Each Twp or City Clerk

2022 TAX RATE REQUEST

	CEQUEST F	REPORT TO COUNTY BO							-			
County		MITCHY			te ALL Properties		180,316	=	ŀ	P	LEASE READ	THE
		ALLEGAN	2022	Non-Homest	ead Texable Val	ue	36,324,	496	į	11	ESTRUCTIONS	ON
Local Governm	03060	2011001 -							Į	וד	HE REVERSE S	
You must one		SCHOOL:	MARTIN						<u> </u>		CAREFULLY	
The following	tox rates have	for each unit of government for been authorized for levy on the	www.u s biobeth	2022	tax roll,	provided under MC	L 500 211.119.				•	
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
So	urce	Purpose of Milaga	Date of Election	Original Militage Authorized by Election, Charter, etc.	2021 Milage Rele Permanently Reduced by MCL 211.34d	2022 Current Year "Headlee" Millage Reduction Fraction	2022 Millage Rate Permanently Roduced by MCL 211.34d "Headles"	Sec. 211.34 Truth In Assessing or Equalization Milage Rollback Fraction	Maximum ellomable Atiliage Levey*	Milispe Requested to be Levied July 1	Milage Requested to be Levied Dec. 1	Explosion Date of Milage Authorized
VOTED		OPER NON-HOME	8/3/2021	18,6169	18,6169	0.9928	18.4828	1,0000	18.4828		18.000	12/31/2026
						- Aw						
EXTRA VO	1	DEBT .	2017					1.0000				UNLIMITED
EXTRA VO		DEBT	2015	1.800	1,800	***	1,800	1.0000			1.800	UNLIMITED
EXTRA VO	<u> </u>	DEBT	2009					1.0000			5,700	UNLIMITED
EXTRA VO	TED	DEBT	8/2/2016	5.200	5.200		5.200	1.0000			5.200	12/31 / 2046
Prepared by						Total Authoriz	ed (exclude debt)	Total debi	18.4828			
Matthey	y Woolford	7 77777	mati		Tile Equalization I		co-sign Tibe Chief f	inancial	Officer	DAIS-CED 7/1/2022	Co-Sign Date 7/18/2022	
siele constitution LOCAL actions	on (Article 9, Se	tocal government use named above ection 31), and that the requested fevy a Supplemental (Hold Hamda	evy rates have ef	so been reduced,	tax levy rates have be If necessary, to comp	en reduced, if neces sly with MCL Sections	sky, to comply with the 211,24s, 211,34, and for			miliage to be levis	rict Use Only, Complete d, See STC Bulletin 2 o myleting this section	e il caquasting sf.2008 for .
Clerk X Secreta		Significant of the state of the	lla			ney Pillars		Date 07/18/2	022	Total School Distric	t Operating Rates to p and NH Oper ONLY)	RATE
Chalme X Preside	nson :n t	Signature My Six	<u>wl</u>		Type Name Art S	hook	··	Date 07/18/2	022	For Principal Resid Qualified Forest an	ence, Quzlified Ag, d Industrial Personal	0.00
*Vader Truth in column 9. The	Taxalion, MCI requirements o	. Section 211,24e, the governing b of MCL 211,24e must be met prior	ody may dacida i lo lavvina sa oce	o lovy a rato which	h will not exceed the ; is larger than the best	naximum suthorizad mel too tul alen vat e	raie allowed in or then the rate to column 2			For Commercial Pr	knonsi	6.00
		ee instructions on page 2 reg					ला आकर ११० व्याप्य या <i>ज्यानी</i> हो। उ	•		For All Other		18.00
					, 4004 H ON							

2022 TAX RATE REQUEST (This form must be completed and submitted on or before September 30, 2022.)

ORIGINAL TO: County Clerk(s)

COPY TO: Equalization Department(s)

COPY TO: Each Township or City Clerk

County	CALHOUN & BA	RRY COUN	ITIES		2022 Taxabl	e Value of All F	Properties		274,80	07,709	
Local Government Unit	PENNFIELD SC	HOOLS				For LOCAL School Districts: Current Year Taxable Value excluding Principal Residence, Qualified Agricultural, Qualified Forest, Industrial Personal and Commercial Personal Properties. 80,226,611					
	n for each unit of government be been authorized for levy on		and the state of t	Penalty for non	-filing is provid	led under MCL S	Sec. 211.119.				
(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election, Charter, etc.	(5) 2021 Millage Rate Permanently Reduced by MCL 211.34d	(6) 2022 Current Year Millage Reduction Fraction	(7) 2022 Millage Rate Permanently Reduced by MCL 211.34d	(8) Sec. 211.34 Truth in Assessing or Equalization Rollback Fraction	(9) Maximum Allowable Millage Rate*	(10) Millage Requested to be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorized
	**** Pennfield	Charter T	ownship,	Bedford C	harter T	ownship,	City of Batt	le Creek	45		
Voted	Oper Non-Hm	8/7/2018	18.0000	18.0000	0.9967	17.9406	1.0000	17.9406	8,9703	8.9703	12/31/2024
Voted	Oper Non-Hm	8/7/2018	1.0000	1.0000	0.9967	0.9967	1.0000	0.9967	.0297	,0297	12/31/2024
Voted	Debt	6/14/2004	Unlimited	na	na	na	na	Unlimited	3.65	3.65	12/31/2033
Voted	Debt	11/2/2021	Unlimited	na	na	na	na	Unlimited	1,650	1.650	12/31/2051
	**** Con	vis Town	ship, Assy	ria Town	ship, Joh	nstown T	ownship				
Voted	Oper Non-Hm	8/7/2018	18.0000	18.0000	0.9967	17.9406	1.0000	17.9406	,O	17.9406	12/31/2024
Voted	Oper Non-Hm	8/7/2018	1.0000	1.0000	0.9967	0.9967	1.0000	0.9967	A	0594	12/31/2024
Voted	Debt	6/14/2004	Unlimited	na	na	na .	na	Unlimited	6	7.30	12/31/2033
Voted	Debt	11/2/2021	Unlimited	na	na	na	na	Unlimited	0	3.300	12/31/2051
Prepared by Tom	2.017.72	Telephone Nu	(269) 78	2.0.			qualization E	irector	Date	May 2, 2022	
if necessary, to comply with the	resentatives for the local govern ne state constitution (Article 9, 5 211.34, and for LOCAL school of	Section 31), and I	hat the requested t	evy rates have all	so been reduce	d. if necessary to	uced, comply		Local School District Use C milage to be levied. See S instructions on completing	TC Bulletin 2 of 2022 for	
Clerk Secretary	Signature /	1/ran	lelf	Print or Type Na	inand	سالت	Date 6-20 -	22	Total School District (Rates to be levied (H and NH Oper ONLY)		Rale
Chairperson President	Signature July	esens	y	Print or Type Na Dana W	1.1	coney	Date 6-20	-22	For Principal Resider Qualified Ag, Qualifie and Industrial Person	d Forest	0.0000
*Under Truth in Taxation, M rate allowed in column 9. T	ICL Section 211.24e, the gov The requirements of MCL 211.	eming body may 24e must be me	decide to levy a	rate which will no an operating levy	of exceed the n	naximum author	ized tax rate		For Commercial Pers	7.7	6,0000

L-4029

	ere the Local Gov Kalamazoo ,		Levies Taxes			axable Value of ALL Proper 4,693,136	rties in the Unit as of 5-2	3-2022			
Plainwell	ent Unit Requestin Community	Schools	\$		Persona	CAL School Districts: 2022 al and Commercial Persona	al Properties.	143,403,71	5		
This form mus authorized for	st be complete r levy on the 20	d for each 22 tax roll	unit of govern	ment for which a p	roperty tax is I	evied. Penalty for non-	-filing is provided u	nder MCL Sec	211.119, The follo	wing tax rates ha	ve been
(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election Charter, etc.	(5) ** 2021 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(6) 2022 Curren Year "Headled Millage Reducti Fraction	" Reduced by MCL	(8) Sec. 211.34 Truth in Assessing or Equalization Millage Rollback Fraction	(9) Maximum Allowable Millage Levy *	(10) Millage Requested to be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorized
Voted	Operating	5/6/14	18.0000	18.0000	.9461	17.0298	1.0000	17.0298	0	17.0298	12/31/26
Voted	Operating	11/8/22	3.0000	3.0000	1.0000	3.0000	1.0000	3.0000	0	.9702	12/31/26
Extra Voted	Debt	11/5/19	10.5500	10.5500		10.5500		10.5500	0	10.5500	Unlimited
Prepared by			Telep	hone Number		Title of Prepare	or .		Date		
educed, if nec	essary to comp	ly with the s	state constitutio	n (Article 9, Section	31), and that the	e certify that these reque e requested levy rates hich levy a Supplementa	ave also been reduc	ed if	Local School Distric millage to be levied. Instructions on com	t Use Only, Comple See STC Bulletin 2 pleting this section.	te if requesting of 2022 for
380.1211(3).	Signature	100 K) A		nt Name	2) 1	Date		Total School Dist Rates to be Levid and NH Oper ON	ed (HH/Supp	Rate
Secretary Chairperso	on Signature		Phr.	Pri	nt Name	DI . 100	0 m 11/	21/22	For Principal Resid Ag., Qualified Fore Personal	dence, Qualified est and Industrial	
President Under Truth in	n Taxation NIC	Section 2	11. 4e, the gov	rernina body may de	cide to levusa to	te which will not exceed	the maximum as the	vized rate	For Commercial P	ersonal	
illowea in colul	mn 9. The requirate in column	rements of	MCL 211.24e i	must be met prior to	levying an open	ating levy which is large	r than the base tax r	ate but not	For all Other		

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

L-4029

	ere the Local Gov Kalamazoo ,		Levies Taxes			axable Value of ALL Proper 4,693,136	rties in the Unit as of 5-2	3-2022			
Plainwell	ent Unit Requestin Community	Schools	\$		Persona	CAL School Districts: 2022 al and Commercial Persona	al Properties.	143,403,71	5		
This form mus authorized for	st be complete r levy on the 20	d for each 22 tax roll	unit of govern	ment for which a p	roperty tax is I	evied. Penalty for non-	-filing is provided u	nder MCL Sec	211.119, The follo	wing tax rates ha	ve been
(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election Charter, etc.	(5) ** 2021 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(6) 2022 Curren Year "Headled Millage Reducti Fraction	" Reduced by MCL	(8) Sec. 211.34 Truth in Assessing or Equalization Millage Rollback Fraction	(9) Maximum Allowable Millage Levy *	(10) Millage Requested to be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorized
Voted	Operating	5/6/14	18.0000	18.0000	.9461	17.0298	1.0000	17.0298	0	17.0298	12/31/26
Voted	Operating	11/8/22	3.0000	3.0000	1.0000	3.0000	1.0000	3.0000	0	.9702	12/31/26
Extra Voted	Debt	11/5/19	10.5500	10.5500		10.5500		10.5500	0	10.5500	Unlimited
Prepared by			Telep	hone Number		Title of Prepare	or .		Date		
educed, if nec	essary to comp	ly with the s	state constitutio	n (Article 9, Section	31), and that the	e certify that these reque e requested levy rates hich levy a Supplementa	ave also been reduc	ed if	Local School Distric millage to be levied. Instructions on com	t Use Only, Comple See STC Bulletin 2 pleting this section.	te if requesting of 2022 for
380.1211(3).	Signature	100 K) A		nt Name	2) 1	Date		Total School Dist Rates to be Levid and NH Oper ON	ed (HH/Supp	Rate
Secretary Chairperso	on Signature		Phr.	Pri	nt Name	DI . 100	0 m 11/	21/22	For Principal Resid Ag., Qualified Fore Personal	dence, Qualified est and Industrial	
President Under Truth in	n Taxation NIC	Section 2	11. 4e, the gov	rernina body may de	cide to levusa to	te which will not exceed	the maximum as the	vized rate	For Commercial P	ersonal	
illowea in colul	mn 9. The requirate in column	rements of	MCL 211.24e i	must be met prior to	levying an open	ating levy which is large	r than the base tax r	ate but not	For all Other		

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

OPER

Non-Home

DEBT

5/6/14

11/5/19

VOTED

Extra Voted

ORIGINAL TO: County Clerk(s) COPY TO: Equalization Department(s)

COPY TO: Each township or city clerk

Carefully read the instructions on page 2.

17.0298

10.5500

L-4029

12/31/26

Unlimited

2022 Tax Rate Request (This form must be completed and submitted on or before September 30, 2022)

MILLAGE REQUEST REPORT TO COUNTY BOARD OF COMMISSIONERS

This form is issued under authority of MCL Sections 211.24e, 211.34 and 211.34d, Filing is mandatory; Penalty applies.

18.0000

10.5500

18,0000

10.5500

.9461

N/A

County(ies) Whe Allegan, E	re the Local Gove Barry, Kalan		Levies Taxes			able Value of ALL Proper ,693,136	ties in the Unit as of 5-2	3-2022			
Local Governme Plainwell	nt Unit Requesting Community				For LOC Personal	AL School Districts: 2022 and Commercial Persona	Taxable Value excluding al Properties.	Principal Resider 143,403,71	,	tlural, Qualified Fores	t, Industrial
This form mus authorized for				ment for which a p	roperty tax is le	ried. Penalty for non-	filing is provided u	nder MCL Sec 2	211.119. The follo	wing tax rates ha	ve been
(1) Source	(2) Purpose of Millage	Date of	(4) Original Millage Authorized by Election Charter, etc.	(5) ** 2021 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(6) 2022 Current Year "Headlee' Millage Reductio Fraction		(8) Sec. 211.34 Truth in Assessing or Equalization Millage Rollback Fraction	(9) Maximum Allowable Millage Levy *	(10) Millage Requested to be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorized

17.0298

10.5500

1.0000

17.0298

10.5500

					<u> </u>
Prepared by	The state of the s	Telephone Number	Title of Preparer	Date	
*				09/14/2	2022

CERTIFICATION: As the representatives for the local government unit named above, we certify that these requested tax levy rates have been reduced, if necessary to comply with the state constitution (Article 9, Section 31), and that the requested levy rates have also been reduced, if necessary, to comply with MCL Sections 211.24e, 211.34 and, for LOCAL school districts which levy a Supplemental (Hold Harmless) Millage, 380.1211(3).

	\sim \sim		
Clerk	Signature 10 (Print Name	Date
Secretary	Allktranlan	Jill Dunham	09/14/2022
Chairperson X President	Signature	Print Name Amy Blades	Date 09/14/22

Local School District Use Only. Complete if requesting millage to be levied. See STC Bulletin 2 of 2022 for instructions on completing this section. Total School District Operating Rates to be Levied (HH/Supp Rate and NH Oper ONLY)

For Principal Residence, Qualified Ag., Qualified Forest and Industrial Personal For Commercial Personal

For all Other

^{*} Under Truth in Taxation, MC Section 211.24d, the governing body may decide to levy a rate which will not exceed the maximum authorized rate allowed in column 9. The requirements of MCL 211.24e must be met prior to levying an operating levy which is larger than the base tax rate but not larger than the rate in column 9.

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

Michigan Department of Treasury 614 (Rev. 02-22)

ORIGINAL TO: County Clerk(s)
COPY TO: Equalization Department(s)
COPY TO: Each township or city clerk

L-4029

2022 Ta Millage R	x Rate R	eques	t (This form	n must be comple DARD OF COMMIS	eted and submi	ted on or before S	September 30, 202	CO!	PY TO: Each towns	_	,
				11.34 and 211.34d, Filir		alty applies.			Carefully read	the instructions	on page
	ere the Local Gove Barry,Kent,Ic		Levies Taxes		\$78	able Value of ALL Proper 0,718,438					
Thornap	ent Unit Requestin	Schools	•			L School Districts; 2022 and Commercial Persona		W 1 O O 4 1 1 1 1 2	-~ ı		
This form mu authorized fo	st be complete r levy on the 20	d for each)22 tax roll	unit of gover	nment for which a p	property tax is lev	ied. Penalty for non-	filing is provided u	nder MCL Sec	211.119. The follo	wing tax rates ha	ve been
(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election Charter, etc.	(5) ** 2021 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(6) 2022 Current Year "Headlee" Millage Reduction Fraction	(7) 2022 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(8) Sec. 211.34 Truth in Assessing or Equalization Milage Rollback Fraction	(9) Maximum Allowable Millage Levy *	(10) Millage Requested to be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorize
Voted	Non-Homestead Operating	11/4/14	18.0000	17.2887	0.9887	17.0933	1.0000	17.0933		17.0933	Dec-24
Voted	Non-Homestead Operating	5/3/2005	2.0000	1.9208	0.9887	1.8990	1.0000	1.8990		0.9067	Dec-24
Voted	Debt	Various	9.65	N/A		N/A		N1/0		0.0505	
			0.00	1070		IN/A		N/A		9.6500	Unlimite
				•							
Prepared by			3	phone Number	,	. Title of Prepare			Date	-	
-	her LaHaie			269) 795-5521			t Superintender		06/13/2022		
reduced, if ne- necessary, to	cessary to comp	ly with the s	state constituti	ion (Article 9. Sectior	31) and that the	certify that these requ requested levy rates h th levy a Supplementa	ave also been roduc	and if	millage to be levied	ct Use Only, Comple . See STC Bulletin 2 apleting this section	of 2022 for
380.1211(3).	Signature	TA	$\sqrt{}$	1	înt Name		Date		Total School Dis Rates to be Levi and NH Oper ON	ed (HH/Supp	Rate
Secretary Chairpers	on Signature			Pr	Anne Hammir int Name		06/13	/2022	For Principal Resi Ag., Qualified Ford Personal	dence, Qualified est and Industrial	
President * Under Truth	in Taxation, MC	L Section 2	11.24e, the go	overnina body may de	Matthew Powe	which will not exceed	6/13/	prized rate	For Commercial P	ersonal	6.0000
allowed in coli	ımn 9. The requ rate in column :	irements of	MCL 211.246	must be met prior to	levying an operat	ing levy which is large	r than the base tax r	ate but not	For all Other		18.0000

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

ORIGINAL TO: County Clerk(s) COPY TO: Equalization Department(s)

COPY TO: Each township or city clerk

L-4029

2022 Tax Rate Request (This form must be completed and submitted on or before September 30, 2022)

Carefully read the instructions on page 2. MILLAGE REQUEST REPORT TO COUNTY BOARD OF COMMISSIONERS This form is issued under authority of MCL Sections 211.24e, 211.34 and 211.34d. Filing is mandatory; Penalty applies. County(ies) Where the Local Government Unit Levies Taxes 2022 Taxable Value of ALL Properties in the Unit as of 5-23-2022 ALLEGAN \$824,870,824 2022 Non-Homestead Taxable Value \$229,481,404 For LOCAL School Districts: 2022 Taxable Value excluding Principal Residence, Qualified Agricuttural, Qualified Forest, Industrial Personal and Commercial Personal Properties. Local Government Unit Requesting Millage Levy This form must be completed for each unit of government for which a property tax is levied. Penalty for non-filing is provided under MCL Sec 211.119. The following tax rates have been authorized for levy on the 2022 tax roll. (8) Original 2021 Millage Rate (6) 2022 Millage Sec. 211.34 Truth (12)2022 Current Millage Expiration Permanently Rate Permanently in Assessing or (9) (10)(11)(3) Authorized by Reduced by MCL Year "Headlee" Reduced by MCL Millage Date of (2)Equalization Maximum Millage (1) Purpose of Date of Election 211.34d Millage Reduction 211.34d Millage Rollback Allowable Requested to Requested to be Millage Millage "Headlee" "Headlee" Fraction be Levied July 1 Levied Dec. 1 Authorized Source Election Charter, etc. Fraction Millage Levy ' 18.1773 VOTED 8/4/2020 18,1773 1.0000 18.1773 1.0000 18.1773 9.0000 9.0000 12/31/24 NON-HOME OPER VOTED 8/4/2020 0.2097 0.2097 1.0000 0.2097 1.0000 0.2097 12/31/24 NON-HOME DEBT EXTRA VOTE 0.1200 2009 NA NA NA NA NA 0.2400 0.1200 UNLIMITE DEBT EXTRA VOTE NA NA NA NA 2.5800 1.2900 1.2900 UNLIMIT 2016A NA DEBT EXTRA VOTE 1.9900 1.9900 UNLIMIT 2016B NA NA NA NA 3.9800 NA EXTRA VOTE DEBT NA NA NA 0.2600 0.1300 0.1300 UNLIMIT 2016C NA NA DEBT EXTRA VOTE 2018 NA NA NA NA NA 1.0400 0.5200 0.5200 UNLIMIT DEBT EXTRA VOTE 0.1600 0.0800 0.0800 UNLIMIT 2019 NA NA NA NA NA Date Prepared by Title of Preparer Telephone Number SEE 2ND PAGE FOR ADDITIONAL CERTIFICATION: As the representatives for the local government unit named above, we certify that these requested tax levy rates have been reduced, if necessary to comply with the state constitution (Article 9, Section 31), and that the requested levy rates have also been reduced, if instructions on completing this section. necessary, to comply with MCL Sections 211.24e, 211.34 and, for LOCAL school districts which levy a Supplemental (Hold Harmless) Millage, Total School District Operating 380.1211(3). Rates to be Levied (HH/Supp Rate Clerk Print Name Date and NH Oper ONLY)

Secretary Chairperson Signature Print Name Date President

Local School District Use Only, Complete if requesting miliage to be levied. See STC Bulletin 2 of 2022 for For Principal Residence, Qualified Ag., Qualified Forest and Industrial Personal For Commercial Personal For all Other

^{*} Under Truth in Taxation, MCL Section 211,24e, the governing body may decide to levy a rate which will not exceed the maximum authorized rate allowed in column 9. The requirements of MCL 211.24e must be met prior to levying an operating levy which is larger than the base tax rate but not larger than the rate in column 9.

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

ORIGINAL TO: County Clerk(s) COPY TO: Equalization Department(s)

L-4029 COPY TO: Each township or city clerk

2022 Tax Rate Request (This form must be completed and submitted on or before September 30, 2022)

MILLAGE REQUEST REPORT TO COUNTY BOARD OF COMMISSIONERS

This form is issued under authority of MCL Sections 211,24e, 211,34 and 211,34d. Filing is mandatory; Penalty applies.

Carefully read the instructions on page 2.

County(ies) Where the Local Government Unit Levies Taxes 2022 Taxable Value of ALL Properties in the Unit as of 5-23-2022 ALLEGAN \$824,870,824 2022 Non-Homestead Taxable Value \$229,481,404 Local Government Unit Requesting Millage Levy For LOCAL School Districts: 2022 Taxable Value excluding Principal Residence, Qualified Agricuttural, Qualified Forest, Industrial Personal and Commercial Personal Properties. 03040 SCHOOL: WAYLAND

This form must be completed for each unit of government for which a property tax is levied. Penalty for non-filing is provided under MCL Sec 211.119. The following tax rates have been authorized for levy on the 2022 tax roll.

(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election Charter, etc.	(5) ** 2021 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(6) 2022 Current Year "Headlee" Millage Reduction Fraction	(7) 2022 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(8) Sec. 211.34 Truth in Assessing or Equalization Millage Rollback Fraction	(9) Maximum Allowable Millage Levy *	(10) Millage Requested to be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorized
PAGE 2 OF 2	1										
EXTRA VOTI	DEBT	2021	NA	NA	NA	NA	NA	0.1400	0.0700	0.0700	UNLIMIT
Prepared by			Text	hone Number		Title of Prepare			Date		

Prepared by	Telephone Number	Title of Preparer	Date	
Patricia A Velie	(269) 792-2181	Asst. Sup. of Finance & Operations	06/13/2022	

CERTIFICATION: As the representatives for the local government unit named above, we certify that these requested tax levy rates have been reduced, if necessary to comply with the state constitution (Article 9, Section 31), and that the requested levy rates have also been reduced, if necessary, to comply with MCL Sections 211.24e, 211.34 and, for LOCAL school districts which levy a Supplemental (Hold Harmless) Millage, 380 1211(3)

Clerk Secretary	Signature Day	Print Name THERESA DOBRY	Date 06/13/2022
Chairperson	Signature / / //	Print Name	Date
X President	1 /ded My a we	DAN CASSINI	6-13-2022

allowed in column 9. The requirements of MCL 211.24e must be met prior to levying an operating levy which is larger than the base tax rate but not larger than the rate in column 9.

Local School District Use Only, Complete if requesting millage to be levied, See STC Bulletin 2 of 2022 for instructions on completing this section. Total School District Operating Rates to be Levied (HH/Supp Rate and NH Oper ONLY) For Principal Residence, Qualified Ag., Qualified Forest and Industrial 0.0000 Personal For Commercial Personal 6.0000 For all Other 18,0000

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

County	ALLEGAN			lue ALL Prope lue ALL Prope		3,376,30° 3,597,73			II	LEASE READ T	ON
ocal Government Unit	ALLEGAN AREA	EDUCATIONAL	SERVICE A	GENCY					THE REVERSE SIDE CAREFULLY.		
	m for each unit of governm ve been authorized for levy		perty tax is levied 2022	i, Penalty for non-fil tax roll,	ing is provided under	MCL Sec. 211,119					
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Source	Purpose of Milage	Date of Election	Original Millage Authorized by Election, Charter, etc.	2021 Milage Rate Permanently Reduced by MCL 211.34d	2022 Current Year "Headee" Mitage Reduction Fraction	2022 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	Sec. 211.34 Truth In Assessing or Equalization Millage Rollback Fraction	Maximum allowable Millage Levey*	Millage Requested Iobe Levied July 1	Millage Requested to be Levied Dec. 1	Expiration Date of Millage Authorized
ALLOCATED	OPERATING	11/3/2020	0.1400	0.1389	0.9896	0.1374	1.0000	0.1374		0.1374	UNLIMITE
EXTRA VOTED	SPEC ED	6/1/1961	1.2500	1.0079	0.9896	0.9974	1.0000	0.9974		0.9974	UNLIMITE
EXTRA VOTED	VOC ED	9/30/1985	1.7800	1,4354	0.9896	1.4204	1,0000	1.4204		1.4204	UNLIMITE
EXTRA VOTED	HANDICAP	3/21/1989	1.8000	1.4516	0,9896	1.4365	1.0000	1.4365		1.4365	UNLIMITE
EXTRA VOTED	SPEC ED	11/4/2014	0.5203	0.5058	0.9896	0.5005	1.0000	0.5005		0.5005	12/31/203
EXTRA VOTED	VOC ED	11/4/2014	0.3037	0.2951	0.9896	0.2920	1.0000	0.2920		0.2920	12/31/203
EXTRA VOTED	OPERATING	8/4/2020	0.0262	0.0260	0.9896	0.0257	1.0000	0.0257		0.0026	12/31/203
EXTRA VOTED	SPEC ED	8/4/2020	0.0448	0.0444	0.9896	0.0439	1.0000	0.0439		0.0439	12/31/203
EXTRA VOTED	VOC ED	8/4/2020	0.0262	0.0260	0,9896	0.0257	7 1.0000	0.0257	J _e	0.0257	12/31/203
					Total Authorize	d (exclude debt)		4.8795		4.8564	
Prepared by Matthew Woolfo	Co-Sign Prepared/Ve ord MMAO	rified by:		Title Equalization	A CONTRACTOR OF THE CONTRACTOR	Co-Sign Title			Date-CED 5/4/2022	Co-Sign Date	
state constitution (Article 9	the local government unit nat b, Section 31), and that the re ich levy a Supplemental (Hok	quested levy rates h	ave also been rec	luced, if necessary, to					millage to be lev	strict Use Only, Complete led, See STC Bulletin 2 o completing this section	
Clerk X Secretary	Signature Mark	us No	war	Mary Ho	oward		Date 6.21.20	22	Total School Dist	nct Operating Rates to opp and NH Oper ONLY)	RATE
Chairperson X President	Signature	HU	L	Type Name Larry E	. Collier		6.21.202	22		idence, Qualified Ag, and Industrial Personal	
	MCL Section 211.24s, the go	A CONTRACTOR OF THE PARTY OF TH							For Commercial F	Personal	
column 9. The requirement	nls of MCL 211.24e must be	met prior to levying	an operating levy	which is larger than t	ne base lax rale bul no	t larger than the rate in col	lumn 9.		For All Other		

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

L-4029

MILLAGE R	EQUEST REP	ORT TO	COUNTY BOA	ARD OF COMMIS 1.34 and 211,34d, Filin	SIONER	:S	v applies.	ершине	JU, 202	-	Carefully read	the instructions	on page 2.
	ere the Local Gov				. [2022 Taxab \$1,29	le Value of ALL Proper 3,570,194						
Barry ISE	ent Unit Requestir						School Districts: 2022 ad Commercial Persona						
	st be complete r levy on the 20			ment for which a p	roperty t	ax is levie	ed. Penalty for non-	filing is pro	ovided u	nder MCL Sec	211,119, The follo	wing tax rates ha	ve been
(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election Charter, etc.	(5) *** 2021 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	2022 (Year "H Millage F	S) Current leadlee" Reduction ction	(7) 2022 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(8) Sec. 211. in Asses Equaliz Millage R Fract	34 Truth sing or ration	(9) Maximum Allowable Millage Levy	(10) Millage Requested to be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorized
Allocated	Operating	8/03/99	0.1300	0.1154	0.986	7	0.1138	1.0000		0.1138		0.1138	N/A
Voted	Sp Ed		0.5000	0.3812	0.986	7	0.3761	1.0000		0.3761		0.3761	N/A
Voted	Sp Ed		0.7500	0.5714	0.986	7	0.5638	1.0000		0.5638		0.5638	N/A
Voted	Sp Ed	9/1/96	0.9375	0.8116	0.986	7	0.8008	1.0000		0.8008		0.8008	N/A
Voted	Sp Ed	8/18	0.3785	0.3785	0.986	7	0.3656	1.0000		0.3656		0.3656	12/2027
Prepared by Amber He	olland		,	hone Number 69) 945-9545			Title of Prepare		ess Ser	vices	Date 07/12/2022		
reduced, if nec	cessary to comp	iv with the	state constitution	n (Article 9, Section	31), and	that the re	ertify that these requequested levy rates here.	nave also be	en reduc	ed, if	Local School District millage to be levied instructions on con	t Use Only. Comple See STC Bulletin 2 pleting this section	te if requesting of 2022 for
380.1211(3).	Signature	L Sections	1 7		int Name	TIGO WITTON			Date		Total School Dis Rates to be Levi and NH Oper ON	ed (HH/Supp	Rate
Secretary Chairpers		lehi	A Ala		Debra H	latfield			07/12/	2022	For Principal Resi Ag., Qualified Fore Personal	dence, Qualified	
Z President		81	164	AR	Robert	Becker		1453	7/12/2		For Commercial P	ersonal	
allowed in colu	in Taxatioń, MC umn 9. The requ e rate in column	irements of	11.246, the gov MCL 211.246	ve f fiing body may de must be met prior to	ecide to le levying a	vy a rate v n operatin	vhich will not exceed g levy which is large	the maxim or than the b	autho Sase tax r	nzea rate ate but not	For all Other		

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

ORIGINAL TO: County Clerk(s)

L-4029

614 (2-22)

2022 TAX RATE REQUEST (This form must be completed and submitted on or before September 30, 2022.)
MILLAGE REQUEST REPORT TO COUNTY BOARD OF COMMISSIONERS

COPY TO: Equalization Department(s) COPY TO: Each Township or City Clerk

This form is issued under MCL Sections 211.24e, 211.34 and 211.34d. Filing is mandatory; Penalty applies.

County

COUNTY

CALHOUN & OTHER COUNTIES

Local Government Unit

13000 CALHOUN INTERMEDIATE SCHOOL DISTRICT

County

Por LOCAL School Districts: Current Year Taxable Value excluding Principal Residence, Qualified Agricultural, Qualified Forest. Industrial Personal and Commercial Personal Properties.

You must complete this form for each unit of government for which a property tax is levied. Penalty for non-filing is provided under MCL Sec. 211.119. The following tax rates have been authorized for levy on the 2022 tax roll. (1) (2)(3) (4) (5) (6) (7) (8) (9) (10)(11) (12)Original 2021 2022 2022 Millage Millage Millage Millage Rate Current Year Millage Rate Sec. 211.34 Truth Maximum Requested Requested Expiration Authorized Permanently Millage Permanently in Assessing or Allowable to be to be Date of Purpose of Date of by Election, Reduced by Reduction Reduced by Equalization Millage Levied Levied Miliage Source Millage Election Charter, etc. MCL 211,34d Fraction MCL 211.34d Rollback Fraction Rate* July 1 Dec. 1 Authorized Allocated Operating 1/7/1972 0.2600 0.2519 0.9980 0.2513 1.0000 0.2513 .2513 Unlimited Voted Oper- Voc Ed 11/7/1967 1.5000 1.4538 0.9980 1.4508 1.0000 1,4508 1.4508 Unlimited Voted Oper-Spec Ed 6/14/1976 2,0000 1.9386 0.9980 1.9347 1.0000 1.9347 Unlimited Voted Oper-Spec Ed 11/5/1985 1.0000 0.9693 0.9980 0.9673 1.0000 0.9673 Unlimited Voted Oper-Spec Ed 4.4925 9/25/1990 1.5000 1.4538 0.9980 1.4508 1.0000 1.4508 Unlimited Voted Oper-Spec Ed 6/9/2003 0.1400 0.1400 0.9980 0.1397 1.0000 0.1397 Unlimited

Prepare	Tom Scott		Telephone Number (269)	781-0747	7 Title of Preparer Deputy Equalization Director			
II HELESS	L Sections 211.24e, 2	ne state constitution (Article 9, Se	cion 31), and that the seco	certify that these requested tax levested levy rates have also been recental (Hold Harmless) Millage, MC	vy rates have been red	uppd	May 2, 2022 Local School District Use Only, Complete if requesting integrated be levied. See STC Bulletin 2 of 2022 for instructions on completing this section.	學。在古史改
XX	Clerk Secretary	Signature A	orduch	Print or Type Name Jean Goodric	h Da	5/31/2022	Total School District Operating Rates to be levied (HH/Supp and NH Oper ONLY)	Rate
XX	Chairperson President	Signature	a I. Budo	Print or Type Name Kenneth Pond	Da S	5/31/2022	For Principal Residence, Qualified Ag, Qualified Forest and Industrial Personal.	
rate allo	Truth in Taxation, M wed in column 9. To arger than the rate i	he requirements of MCL 211.2	ning body may decide to I 4e must be met prior to le	evy a rate which will not exceed vying an operating levy which is	l the maximum author larger than the base	ized tax rate	For Commercial Personal	
			egarding where to find	the millage rate used in colu	ımn (5).		For All Other	<u>!</u>

Michigan Department of Treasury

ORIGINAL TO: County Clerk(s)

L-4029

COPY TO: Equalization Department(s) COPY TO: Each Township or City Clerk

614 (2-22) 2022 TAX RATE REQUEST (This form must be completed and submitted on or before September 30, 2022.)

MILLAGE REQUEST REPORT TO COUNTY BOARD OF COMMISSIONERS

This form is issued under MCL Sections 211.24e, 211.34 and 211.34d. Filing is mandatory; Penalty applies.

** IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

Carefully read the instructions on page 2.

County			_			2022 Taxable	e Value of Ali F	Properties less REZ	<u> </u>	ለ ቁለጽ	,008,239	
		CALHOUN & OTH	ER COUNTIE	S							<u> </u>	
Local Governr		CALHOUN INTERME	DIATE SCH	OOL DIS		For LOCAL Scho Forest , Industria	el Districts: Currer Personal and Cor	nt Year Taxable Value e mmercial Personal Prop	xcluding Principal erties.	Residence, Qualmet	d Agriculturas, Qualified	
You must com	nplete this	form for each unit of governmen have been authorized for levy on	t for which a prop	erty tax is levi	ed. Penalty for	non-filing is pr	ovided under MC	CL Sec. 211.119.				
	(1)	(2)	(3)	(4) Original Millage Authorized	Permanently	(6) 2022 Current Year Millage	(7) 2022 Millage Rate Permanently	(8) Sec. 211.34 Truth in Assessing or Equalization	(9) Maximum Allowable Millage	(10) Millage Requested to be Levied	(11) Millage Requested to be Levied	(12) Expiration Date of Millage
S	ource	Purpose of Millage	Date of Election	by Election, Charter, etc.	Reduced by MCL 211.34d	Reduction Fraction	Reduced by MCL 211.34d	Rollback Fraction	Rate*	July 1	Dec. 1	Authorized
Allocated		Operating	1/7/1972	0,2600	0.2519	0.9980	0,2513	1.0000	0.2513	.12	.1313	Unlimited
Voted		Oper- Voc Ed	11/7/1967	1,5000	1.4538	0,9980	1.4508	1,0000	1,4508	.72	.7308	Unlimited
Voted	· · · · · ·	Oper- Spec Ed	6/14/1976	2.0000	1.9386	0.9980	1.9347	1,0000	1.9347			Unlimited
Voted		Oper- Spec Ed	11/5/1985	1.0000	0.9693	0.9980	0.9673	1.0000	0.9673			Unlimited
Voted		Oper- Spec Ed	9/25/1990	1,5000	1.4538	0.9980	1,4508	1.0000	1.4508	2.24	2.2525	Unlimited
Voted		Oper- Spec Ed	6/9/2003	0.1400	0.1400	0.9980	0.1397	1,0000	0,1397			Unlimited
		MATERIAL CONTRACTOR CO									<u> </u>	
Prepared by	To	m Scott	Telephone Nu		31-0747	-	Title of Preparer Deputy E	qualization D		Date	May 2, 2022	

Prepared by		Telephone Number		Title of Preparer		Uale	
	Tom Scott	(269) 78	1-0747	Deputy Equ	alization Director	May 2, 2022	
if necessary, to con	As the representatives for the local government with the state constitution (Article 9, St. 211.24e, 211.34, and for LOCAL school di	ection 31), and that the requested	levy rates have also been re-	duced, if necessary to	uced. comply	Local School District (Les Only, Complete il requesting militage to be levied. Sep STC Bulletin 2 of 2022 for instructions on completing this section.	
Clerk XX Secre		ooduch P	nntor Type Name Jean Goodricl	Ω Ω	^{le} 5/31/2022	Total School District Operating Rates to be levied (HH/Supp and NH Oper ONLY)	Rate
Chairr XX Presid	person Signature		rint or Type Name Kenneth Ponds	Da	5/31/2022	For Principal Residence, Qualified Ag, Qualified Forest and Industrial Personal.	
*Under Truth in T	axation, MCL Section 211.24e, the gove Solumn 9. The requirements of MCL 211.2	ming body may decide to levy a	rate which will not exceed an operating levy which is	the maximum author larger than the base	ized tax rate	For Commercial Personal	
	n the rate in column 9.		,			For All Other	

L-4029

This form is issued County(ies) Wh	ere the Local Gove							ties in the Unit as of 5-2	23-2022			
Barry Co	unty		20,000 0000				132,425	nes in the onit as of a-z	.5-2022			
Local Government	ent Unit Requestin	g Millage Lev	vy		Fo Pe	or LOCAL ersonal ar	School Districts: 2022 nd Commercial Persona	Taxable Value excludin al Properties.	g Principal Resid	lence, Qualified Agricu	tlural, Qualified Fores	t, Industrial
This form mu authorized fo	st be complete r levy on the 20	d for each	unit of govern	ment for which a	property tax	is levi	ed. Penalty for non-	filing is provided u	nder MCL Sec	211,119. The follo	owing tax rates have	ve been
(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election Charter, etc.	(5) ** 2021 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(6) 2022 Cu Year "Hea Millage Rea Fracti	adlee" duction	(7) 2022 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(8) Sec. 211.34 Truth in Assessing or Equalization Millage Rollback Fraction	(9) Maximum Allowable Millage Levy	(10) Millage Requested to be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorized
Allocated	Operating	1978	.2000	0.1779	0.9986		0.1776	1.0000	0.1776		0.1776	N/A
Ex Voted	Special Ed	1985	3.0000	2.6750	0.9986		2.6712	1.0000	2.6712		2.6712	N/A
Ex Voted	Voc Ed	1973	1.0000	0.8912	0.9986		0.8899	1.0000	0.8899		0.8899	N/A
										1	1	
			1. ====									
			11 1						4		1	
Prepared by Rachel S	tambaugh		20.03.	hone Number 17) 541-8915			Title of Prepare District A	ccountant		Date		
reduced, it ne	cessary to compl	v with the s	state constitutio	n (Article 9. Section	(31), and the	at the re	quested levy rates h	ested tax levy rates h ave also been reduc I (Hold Harmless) Mi	ed if	Local School District millage to be levied instructions on com	ct Use Only. Complet See STC Bulletin 2 of opleting this section.	e if requesting of 2022 for
380.1211(3).						7.10		4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		Total School Dis	trict Operating	11-
Clerk Secretary	Signature	1.	1		int Name Jack Tem	sev		Date (5/2	and NH Oper ON	ILY)	Rate
Chairpers	1				int Name			Date ,	230	For Principal Residence Ag., Qualified Fore Personal	dence, Qualified est and Industrial	
X President	-	ise	Hu for		Denise D			6/15	122	For Commercial P	ersonal	-
Under Truth	in Taxation, MCL	Section 2	11.24e, the gov	erning body may de	ecide to levy	a rate v	vhich will not exceed g levy which is largei	the maximum autho	rized rate		COST	

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

L-4029

	-			ARD OF COMMIS		tv applies			Carefully read	the instructions	on page 2,
County(ies) Wh	nere the Local Gov Irry, Clinton,	ernment Unit	Levies Taxes		2022 Taxab \$2,18	ole Value of ALL Proper 7,778,608 Lake	ties in the Unit as of 5-2 Wood Public Sc	hool 34090			
Loca: Governm Ionia Cot	ent Unit Requestin	g Millage Le	vy		For LOCAL Personal ar	School Districts: 2022 of Commercial Persona	Taxable Value excluding al Properties.	g Principal Reside	nce, Qualified Agricul	tural, Qualified Fores	I, Industrial
	ist be complete or levy on the 20			ment for which a p	property tax is levie	ed. Penalty for non-	filing is provided u	nder MCL Sec	211,119, The follo	wing tax rates ha	ve been
(1) Source	(2) Purpose of Milage	(3) Date of Election	Election	(5) ** 2021 Millage Rate Permanenily Reduced by MCL 211.34d "Headlee"	(6) 2022 Current Year "Headlee" Millage Reduction Fraction	(7) 2022 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(8) Sec. 211.34 Truth in Assessing or Equalization Millage Rollback Fraction	(9) Maximum Allowable Millage Levy*	(10) Millage Requested to be Leyled July 1	(11) Millage Requested to be Levied Dec, 1	(12) Expiration Date of Millage Authorized
General	Operation	N/A	0.1500	0.1308	0.9946	0.1300	1,0000	0.1300		0.1300	N/A
Voted	SPED	Pr 1977	1.2500	1.0939	0.9946	1.0879	1.0000	1.0879		1.0879	N/A
Voted	SPED	Nov 87	1.7500	1.5316	0.9946	1,5233	1.0000	1.5233		1.5233	N/A
Voted	SPED	Mar 03	1.7500	1.6860	0.9946	1.6768	1.0000	1,6768		1,6768	N/A
Voted	SPED	Aug 17	0.4122	0.4104	0.9946	0.4081	1.0000	0.4081		0.4081	Dec 26
				· · · · · · · · · · · · · · · · · · ·						-	
Prepared by Jamie Ca	rnes	,		hone Number 6) 522-1400		Title of Prepare Director	of Fiscal Service	es	Date 06/08/2022		
educed, if nee	cessary to comp	ly with the s	state constitutio	n (Article 9, Section	31), and that the re	quested levy rates h	ested tax levy rates h ave also been reduc il (Hold Harmless) Mi	ed, if	Local School District millage to be levied. instructions on com	t Use Only, Comple See STC Bulletin 2 pleting this section.	le if requestla of 2022 for
380.1211(3).	Signature	Maria	Mo / O-	·	int Name / / /		Date		Total School Dist Rates to be Levie and NH Oper ON	ed (HH/Supp	Rate
Secretary Chairpers		אישיניע וע		(1967) Pri	M RUI	in very	06/08/		For Principal Resid Ag., Qualified Fore Personal		
President		Lette Southern A	11 210 the gar		LINDA HON				For Commercial P	ersonal	
illowed in colu		rements of					i the maximum autho r than the base tax ro	ete but not	For all Other		

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).

L-4029

MILLAGE RI	EQUEST REP	ORT TO	COUNTY BO	ARD OF COMMIS 1.34 and 211.34d. Filin	SIONERS	ed on or before 3 ty applies.	eptember	JU, 2022	•1	Carefully read	the instructions	on page 2.
County(ies) Who	ere the Local Gove Do; Barry; C	ernment Unit alhoun;	Levies Taxes St Joseph	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	2022 Taxab With	ple Value of ALL Proper REZ 9,090,528,	896 Less	REZ &	211.7d 9,6		these Cuplified Forces	t Industrial
Kalamazo	ent Unit Requestin	g Millage Lev	Ŋ		Personal ar	School Districts: 2022 ad Commercial Persona	al Properties.	excluding	rnncipai Reside	nice, Qualified Agricu	ilurai, Quailled Folesi	i, mausmai
This form mu		d for each 22 tax roll	unit of govern	ment for which a p	property tax is levie	ed. Penalty for non-	-filing is pro	vided un	der MCL Sec	211.119. The follo	wing tax rates ha	ve been
(1) Source	(2) Purpose of Millage	(3) Date of Election	(4) Original Millage Authorized by Election Charter, etc.	(5) ** 2021 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(6) 2022 Current Year "Headlee" Millage Reduction Fraction	(7) 2022 Millage Rate Permanently Reduced by MCL 211.34d "Headlee"	(8) Sec. 211.3 in Assess Equaliza Millage Ro Fracti	34 Truth sing or ation ollback	(9) Maximum Allowable Millage Levy *	(10) Millage Requested to be Levied July 1	(11) Millage Requested to be Levied Dec. 1	(12) Expiration Date of Millage Authorized
Voted	Operating	1965	0.1500	0.1434	0.9961	0.1428	1.0000		0.1428		0.1428	N/A
Voted	Operating	1969	2.0000	1.9188	0.9961	1.9113	1.0000		1.9113		1.9113	N/A
Voted	Operating	1987	1.0000	0.9588	0.9961	0.9550	1.0000		0.9550		0.9550	N/A
Ex Voted	Spec Eduction	5/2021	1.5000	1.5000	0.9961	1.4941	1.0000		1.4941		1.4941	12/31/26
Ex Voted	Enhancement	5/2020	1.5000	1.4977	0.9961	1.4918	1.0000		1.4918		1.4918	12/31/22
Ex Voted	Career/Tech Ed	11/2019	1.0000	0.9942	0.9961	0.9903	1.0000		0.9903		0.9903	12/31/39
Prepared by Scott Tho	mas		1 '	hone Number 69) 250-9363		Title of Prepare Assistan	r t Superin	tendent	t	Date 06/16/2022		
educed, if nec	essary to compl	y with the s	tate constitutio	n (Article 9, Section	31), and that the re	ertify that these requequested levy rates here.	nave also bee	en reduce	ave been d, if	Local School District miliage to be levied. Instructions on com	t Use Only. Complet See STC Bulletin 2 pleting this section.	e if requestin of 2022 for
380.1211(3).	Signature			Pri	int Name			Date		Total School Dist Rates to be Levie and NH Oper ON	ed (HH/Supp	Rate
Secretary Chairpers	on Signature		<i>u y</i> 14		Randy VanAnto	werp		06/16/2 Date	2022	For Principal Residual Ag., Qualified Fore Personal		
President		MYC			/irgil C Knowle		146	06/16/2		For Commercial P	ersonal	
allowed in colu		rements of				vhich will not exceed g levy which is large				For all Other		

^{**} **IMPORTANT:** See instructions on page 2 regarding where to find the millage rate used in column (5).

2022 TAX MATE REQUEST: This form to be completed and submitted on or before September 30. 2022

MILLAGE REQUEST	REPORT TO	COUNTY	BOARD OF	COMME		5	
				2021	Taxable	Value All	Propertie:

MILLIAGE REQUESTINGFORT TO COUNTY BOAR	DOT COME	EGROMEN 2	
	2021	Taxable Value All Properties	27,491,255,356
County KENT	2022	Taxable Value All Properties	29,433,413,716
Local Governments West	2022	Taxable Value All Less RanZones	29,389,484,307
KENT DITERME	DIATE SCHO	OL DISTRICT	

INSTRUCTIONS ON THE REVERSE SIDE CAREFULLY.

PLEASE READ THE

STC (Maleries 42 2008)

You must complete this term for each unit of gargerman for which a property faz is frame. Purisfy for inon-fishing is provided under MCI, Sec. 211 919

The following tour

f fallet fully blan authorized lifery an the	2023 tax rdf	L
	The Samuel Contract of the Con	

(1)	(2)	(0)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)
Soute	Purpose of Militage	Outle of Electron	tackage Authorized by Gattach Charles atc	2021 Milago Reto Purmwidy Reduced by MCs. 211 346	2022 Cumata Year Antaga Reduction Fraction	2022 Makeyo Rass Perhaparan Reduced by MCL 211 346	Sec 21134 takeps Remark Fragma	Manager Streets Manager Assort	Melage Required to ser Levied July 1	Millage Requested to be Levied Dec. 1	Experiment Quant or makings Authorization
ALLOCATED	GEN ED OPER	Vich Conin	0 1990	0.0868	0.9872	0,0556	1 0000	D 0856		0 0856	UNLIMITED
CHART VOTED	SPEC ED OPER	7/5/1957	0,5000	0.4359	0.9872	0.4305	1,0000	0.4303		0.4303	инциитер
CHART VOTED	SPEC ED OPER	6/14/1971	0.7500	0.6541	0.9872	0.6457	1,0000	0 6457		0.6457	UNLIMITED
CHART VOTED	SPEC ED OPER	4/19/1988	1,7500	1,5348	0.9872	1.5151	1,0000	1.5151		1.5151	UNLIMITED
CHART VOTED	VOC ED OPER	6/10/1968	1 1000	0 9595	0 9872	0 9472	1,0000	0.9472		0.9472	UNLIMITED
CHART VOTED	SPEC ED OPER	2/24/2004	1.0000	0.9688	0.9872	0.9563	1 0000	0.9563		0.9563	UNLIMITED
CHART VOTED	ENHANCEMENT	5/2/2017	0.9000	0.8758	0 9872	0.8645	1.0000	0.8645		0.8645	12/31/2026
						Total Operate	ng Allowed	5.4447		5.4447	
Matthew Woolford	Co-Sign Kevin Philipps	Talephone 616-365		en Equalization	Director	Co-Sign Tex			0 6/3/2022	Co-Sign Da 5-16-20	

As the representations for the laces procurement and representations, we carried return represent also began being the selected. If Authority to embely into the procurement and representation of the selected of Authority to embely into the procurement and the procur Sales constituting (Article & Section 2.1), and than the responding tony return have disp drops requiring the company, to compay with MCL Sections 2.11 246-271-24. PM PM LOCAL stress extras which try a Supplemental Plans Harmanian Mallings, MCL, 200, 121 H/SL

	the arriver of the second state of the second	A WARD DOOR ST. A.
Clerk X Secretary	Claudia Bajem	Date 5-16-2022
Charperson X President	Cadua Navila Andrea Haid	s-16-2022

"Under Trith in Taxason, MCL, Section 211-240: the governing peop may decide to lavy a rise which self net extend the maximum evillation of the allered in ACCUMENT OF A LIGHTER AND ACCUMENTATION AS ASSESSMENT OF MARKET AND ACCUMENT OF THE PARTY OF THE

*** IMPORTANT: See critically for the correct method of calculating the intage rise in column (5) Hamilians Sen L-4229 (ISO 92/2022 12:00 PM

The state of the s	
Youl School Disins Courting	
Rates to be Leveld (#945upp and NH Oper CHLT)	Rate
For Principal Renders, Qualifies	
Ag Qualified Forest and Industrial Personal	
For Committee Personal	
For all Other	

and 211,34d. Filing is mandatory; Penalty applies.

ORIGINAL TO: County Clerk(s) COPY TO: Equalization Dept(s) COPY TO: Each Twp or City Clerk

2022 TAX RATE REQUEST: This form to be completed and submitted on or before September 30, 2022

										 		
												
		<u> </u>							<u> </u>	<u> </u>		
									<u> </u>			
						1,7000	1.0000	1.7085		1.7085	UNLIMITE	
OTED	OPERATING	2/28/1991	1.9000	1.7307	0.9872	1,7085					Authorized	
Source	Purpose of Millage	Date of Election	Millage Authorized by Election, Charter, etc.	2021 Millage Rate Permanently Reduced by MCL211.34d	2022 Current Year Milage Reduction Fraction	2022 Milfage Rate Permanently Reduced by MCL, 211,34d	Sec. 211,34 Millage Rollback Fraction	Maximum allowable Milage Rate•	Silate Silate Silate Silate	E Galage Frazeniew Talko - Coved	Expiration Date of Milage	
.,	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	
The following tax rates have been authorize		1	lax roll.	ov note taing is bu	avided under M	ICL Sec. 211.119.		Ottawa			JOSEPH 103	
fou must complete this form for each unit o The following tax rates have been authorize	GRAND RAPIDS (54,307	,	THE REVE	RSE SIDE CA	REFULLY. Bulletin #7 199	
ocal Government Unit		2022 Taxable Value All Properties 29,433,413,716						Allegali	PLEASE READ THE Instructions on			
County: KENT		2021 Taxable Value All Properties 27,491,255,358					55,358	Need Info Allegan		405		

state constitution (Article 9, Section 31), and that the requested levy rates have also been reduced, if necessary, to comply with MCL Sections 211.24e, 211.34, and for LOCAL school districts Which lavy a Supplemental (Hold Harmless) Millage, MCL 380.1211(3).

	, mago, moc 300, (2 [1(3),	
10-4	PLEASE ENTER REQUESTED MILLAGE N COLUMN'S 10 AN	
Clerk		ID/OR 11
Secretary	Danton Print Name	Date
Chairperson	Signature Drumsma	13 dure 2022
President	Print Name	Date
	Louis A fra David Knetic	6/17/22
*Under Truth in Taxation, MQL Section 21		112/2

*Under Truth in Taxation, MCL Section 211.24e, the governing body may decide to levy a rate which will not exceed the maximum authorized rate allowed in column 9. A public hearing and determination is required tor an operating levy which is larger than the base tax rate but not larger than the rate in column 9.

** IMPORTANT: See enclosed instructions for the correct method of calculating the millage rate in column (5). Headlese Sch L-4029 COLEGE 5/31/2022 12:24 PM

Total School District Operating Rates to be Levled (HH/Supp and NH Oper ONLY) Rate For Principal Residence, Qualified Ag, Qualified Forest and Industrial Personal For Commercial Personal For all Other

614 (1-21)

2022 TAX RATE REQUEST (This form must be completed and submitted on or before September 30, 2022.)
MILLAGE REQUEST REPORT TO COUNTY BOARD OF COMMISSIONERS

COPY TO: Equalization Department(s)
COPY TO: Each Township or City Clerk

County	L Sections 211,24e, 211,34	and 211,34d.	filing is manda						Carefully	read the instruct	ions on page 2.		
County	KALAMAZOO				2022 Taxable Value of All Properties in the unit as of 5/23/2022								
Local Government Unit	KALAMAZOO		Less REZ & 211.7d 10,115,550,782										
	KALAMAZOO VALLE	Y COMMUN	ITY COLLEG	E I	For LOCAL School Districts: Current Year Taxable Value excluding Principal Residence, Qualified Agricultural, Qualified Forest, Industrial Personal and Commercial Personal Properties.								
This form must be completed The following tax rates have to	for each unit of government seen authorized for levy on th	for which a pro e 2022 tax roll	perty tax is levi	ed. Penalty for	non-filing is pr	rovided under Mi	CL Sec. 211,119.	·		 -	<u> </u>		
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)		
			Original	2021	2022	2022			Milage	Millage	` ′		
			Millage	Millage Rate		Millage Rate	Sec. 211.34 Truth	Maximum	Requested	Requested	Expiration		
	Purpose of	Date of	Authorized by Election,	Permanently Reduced by	Millage	Permanently	in Assessing or	Allowable	to be	to be	Date of		
Source	Millage	Election		MCL 211,34d	Reduction Fraction	Reduced by MCL 211,34d	Equalization	Millage	Levied	Levied	Milage		
Allocated	0				1 1200011	WCC 211.540	Roliback Fraction	Rate*	July 1 **	Dec. 1	Authorized		
	Operating	1987	2,5000	2.3904	0.9959	2,3805	1,0000	2.3805	2.3805	2,3805	Unlimited		
Allocated	Operating	1991	0.4200	0.4014	0.9959	0.3997	1.0000	0.3997	0.3997	0,3997	Unlimited		
							Y 1	<u></u>					
								ES TO LEVY JULY 1					
								*** TO\	TOWNSHIPS TO LEVY DECEMBER 1				
				<u></u>						····			
											.,,		
Prepared by		Telephone Nu	ımber		· · · · · · · · · · · · · · · · · · ·	Tille of Preparer			Date				
	w Hansen			33-8960		Equalizati	on Director	May 5, 2022					
CERTIFICATION: As the repres if necessary, to comply with the with MCL Sections 211.24e, 211							educed, to comply		Local School District Use of millage to be levied. See S instructions on completing	Only, Complete if requestin TC Bulletin 2 of 2022 for	9		
Clerk VP for Finance	Signature					Name Date			Total School District Operating Rates to be levied (HH/Supp				
Chairperson Signature /					Name Date				and NH Oper ONLY) For Principal Residence,				
X President						all Washington June 2, 2022			Qualified Ag, Qualified Forest				
*Under Truth in Taxation, MCL	. Section 211.24e, the goven	ing body may	decide to levy	a rate which wi	ll not exceed th	ne maximum aut	horized		and Industrial Persons				
rate allowed in column 9. The	requirements of MCL 211.24	fe must be me	t prior to levying	g an operating	levy which is la	nger than the ba	se tax rate		or commercial Pers	आव			
out not larger than the rate in (column 9,								For All Other				
** IMPORTANT: Se	e instructions on page 2 re	garding whe	re to find the	millage rate u	sed in colum	n (5).							

614 (2-22)

2022 TAX RATE REQUEST (This form must be completed and submitted on or before September 30, 2022.)

ORIGINAL TO: County Clerk(s)

For All Other

MILLAGE REQUEST REPORT TO COUNTY BOARD OF COMMISSIONERS

COPY TO: Equalization Department(s) COPY TO: Each Township or City Clerk Carefully read the instructions on page 2.

County					2022 Taxable	e Value of All F	roperties less REZ						
	CALHOUN & OTHER	S			3,943,841,361								
Local Government Unit	KELLOGG COMM	IUNITY CO	LLEGE		For LOCAL School Districts: Current Year Taxable Value excluding Principal Residence, Qualified Agricultural, Qualified Forest, Industrial Personal and Commercial Personal Properties.								
	m for each unit of government for e been authorized for levy on the	Control of the second	y tax is levied.	Penalty for nor	n-filing is provid	ed under MCL S	ec. 211.119.						
(1)	(2)	(3)	(4) Original Millage Authorized by Election,	(5) 2021 Millage Rate Permanently Reduced by	(6) 2022 Current Year Millage Reduction	(7) 2022 Millage Rate Permanently Reduced by	(8) Sec. 211.34 Truth in Assessing or Equalization	(9) Maximum Allowable Millage	(10) Millage Requested to be Levied	(11) Millage Requested to be Levied	(12) Expiration Date of Millage		
Source	Millage	Election		MCL 211.34d	Fraction	MCL 211.34d	Rollback Fraction	Rate*	July 1	Dec. 1	Authorized		
Charter	Operating	6/1/1970	1.9500	1.8929	0.9993	1.8915	1.0000	1.8915	0	1.8915	Unlimited		
Charter	Operating	11/5/1985	1.0000	0.9707	0.9993	0.9700	1.0000	0.9700	0	0.9700	Unlimited		
Charter	Oper Capital Impr	11/7/2012	0.7500	0.7500	0.9993	0.7494	1.0000	0.7494	0	0.7494	12/31/202		
							TOT	ΓAL -	0	3.6109			
Prepared by		Telephone Num	aher			Tille of Prepares			Date				
	Scott	, ciopinana man		81-0747			qualization D	May 2, 2022					
ERTIFICATION: As the representatives for the local government unit named above, we certify that these reques necessary, to comply with the state constitution (Article 9, Section 31), and that the requested levy rates have a rith MCL Sections 211.24e, 211.34, and for LOCAL school districts which levy a Supplemental (Hold Harmless)						also been reduced, if necessary to comply				Local School District Use Only, Complete If requesting millage to be lavied. See STC Bulletin 2 of 2022 for extructions on completing this section.			
Clerk Secretary	Signature	1		Print or Type N JONAT	Name THAN BYRD Date 6/15/22			2	Total School District Rates to be levied and NH Oper ONL	Rate			
Chairperson President	Signature	lup	ell	Print or Type N STEVE	N CLAY	/WELL	6/15/2	2	For Principal Resid Qualified Ag, Quali and Industrial Pers				
Inder Truth in Taxation, M	CL Section 211.24e, the govern	For Commercial Personal											

*Under Truth in Taxation, MCL Section 211.24e, the governing body may decide to levy a rate which will not exceed the maximum authorized rate allowed in column 9. The requirements of MCL 211.24e most be met prior to levying an operating levy which is larger than the base tax rate but not larger than the rate in column 9.

^{**} IMPORTANT: See instructions on page 2 regarding where to find the millage rate used in column (5).